Lwybws 7
Gplwlh pwnwph wyjwagwdnt
2023 pqwywh neywnkiptph 26 -h
N 48 -U npnadwl

NMPNTUUL N 6 <U4EL4UDSNd <UUSUS4Ud <usuyusntuutNrh dsrouuntue cUS 6Rgyuuh duNruuUdL crauuusrh
Gd GNEYULh _RUNULUMGSUNULP (UNULS GNREYULh YUNUUUL CrRULLENN) <UUUQU3UL N 7 <UdtEL4usch

Uryntuwy 1

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULENL CUS RP3NFRGSU3NL
oulutNrh

GrG4yULh RUNULRUMEGSUNULP (UNUULS GREYULN YUNM2UUUL cNRULLENP) UUuuNy

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwiuutph gnpéwrwywl nwuwywngiwb ﬁ wyjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneek

el =2 nwuwywpgiwb hnnwétbph  wojwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SuluUuGP 91,755,112.6 96,403,161.3 12,288,123.1
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 6,236,794.0 5,607,912.5 628,881.5
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnhn dwpdhGabn, 5,466,713.5 5,397,929.5 68,784.0
wbwnwhwl Yuewdwpnid, phGwbuwlwl b
hwpyuwpmgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 5,452,713.5 5,383,929.5 68,784.0
Ywrwdwnnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 5,452,713.56 5,383,929.5 68,784.0
- U2uwunnnGbph w2fuwwnwywndbp L 4111 3,450,654.3 3,450,654.3 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwywb fupwiuntunidObn b 4112 306,761.6 306,761.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 70,658.3 70,658.3 -
- UndntGwy SwrwynipntbbBn 4213 7,567.0 7,567.0 -
- Ywuwh SwrwjnipnLtGbn 4214 257,819.0 257,819.0 -
- Uywhnjwgnwywb dwfuutin 4215 7,938.0 7,938.0 -
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 60,720.0 60,720.0 -
- Lkipphb gnpéninnLabbn 4221 1,000.0 1,000.0 -
- UpuinwuwhiwOwh gnpéninniibbph gény dwiuubin 4222 50,000.0 50,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 12,000.0 12,000.0 -
- {wiwywngswihb dwrewjnipynLblbn 4232 80,472.0 80,472.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

- Uuwwnwywgih dwubwghunwywb qupgugiwl 4233 26,000.0 26,000.0 -
SwrwjnLpnLbbGn
- SEnGYwuinywywh swewjnipyntGlbn 4234 21,225.0 21,225.0 -
- Ywrwwnswlwb swewjnipntbGbbn 4235 60,000.0 60,000.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 51,413.5 51,413.5 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 36,633.8 36,633.8 -
- Uwubwghunwywb swrwjnipntbbn 4241 2,000.0 2,000.0 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 217,680.0 217,680.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gniebp LW hwgniuwn 4261 30,153.0 30,153.0 -
- Spwluwnpuwihb Gnipkn 4264 77,563.2 77,563.2 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 6,486.0 6,486.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 9,760.0 9,760.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 297,043.8 297,043.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4638 42,600.0 42,600.0 -
hwiwjopwht wrbluinpwiht YuwqdwytpwneentGbsph
- W Gwwuinbbp pinuotihg 4729 58,500.0 58,500.0 -
- Mwpunwnhp y&wnobn 4823 11,047.0 11,047.0 -
- Uj) Swiuubn 4861 130,234.0 130,234.0 -
- Jwpswywb uwppwynpniibbn 5122 45,784.0 - 45,784.0
- Ng Gynipwlwl hhoOwywb shonglbp 5132 23,000.0 - 23,000.0

2113/ 01| 1 | 3 |Upwnwphlb hwpwpetpnientGbtn 14,000.0 14,000.0 -
wyn pynLd’
1. GpLwl punuwphl dhowqquihl Juwnplwlhy 14,000.0 14,000.0 -
20nph&nt 6wewynipiniGG6ph nhowg
YAwnpdwlb swfuubn
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 14,000.0 14,000.0 -

2130|101 | 3 | 0 | Lanhwanip plGnyph Swewynipint GGG 33,983.0 33,983.0 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /yunpbph/ génd pGnhwlnip pbnyeh 33,983.0 33,983.0 -
SwrwjnLpnLbbEn
wyn pynLd’
1. Pwnwpwghwlwl Yugnipjwl wlwnbph 33,983.0 33,983.0 -
qpuiGguwl Gwpuyni pjwl gnpdnt Ghniprul
Yuwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 29,238.3 29,238.3 -
hwyblwygwnlbp
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- EGGpgbuinhy swrwynipnLbGbp 4212 3,205.3 3,205.3 -
- UndntGwy SwrwynipntbbBn 4213 100.0 100.0 -
- Ywuwh SwrwjnipnLtGbn 4214 500.0 500.0 -
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 650.0 650.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjnueGn 4267 150.0 150.0 -
- Mwpunwnhp y&wnobn 4823 25.0 25.0 -
- Uj) dwfuutn 4861 114.4 114.4 -
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 570,097.5 10,000.0 560,097.5
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 570,097.5 10,000.0 560,097.5
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 320,097.5 10,000.0 310,097.5
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 10,000.0 10,000.0 -
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 310,097.5 - 310,097.5
2. Gpluwil punuiph qpfuwydnp hunwluwqdh 250,000.0 - 250,000.0
hnwlwlwgdwl Yapniénipinil
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 250,000.0 - 250,000.0
216001 | 6 | O | 2anhwGnip pGnyph hwapuyhG 166,000.0 166,000.0 -
SweuynLpynL GGG (wy nwubphl swwnluwlnn)
nphg’
2161|/01| 6 | 1 |CGnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 166,000.0 166,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdobp, hwygunhdnidlbp, nunwpwGh 150,000.0 150,000.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhiowiywdo YAwnpnidabp
- Mwpunwnhp y&wnobn 4823 150,000.0 150,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 16,000.0 16,000.0 -
qpuligiwl, qhwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Uwubwghunwywb swrwjnipjntbbbn 4241 8,000.0 8,000.0 -
- Mwpunwnhp y&wnobn 4823 8,000.0 8,000.0 -
2200(02|0 | 0 nuUCSMULNHB3NFL 58,260.0 17,960.0 40,300.0

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2220| 02 0 | Pwnuwpuwghwluwl wwywnwwbnipinta 50,400.0 10,100.0 40,300.0
nphg’

2221|02| 2 | 1 |Pwnwpwghwywl wwunwwbnigntl 50,400.0 10,100.0 40,300.0
wyn pynLd’
1. Punwpwghwlwl wuwpwnwwanpjwala 50,400.0 10,100.0 40,300.0
wowlgnipint G
- SEnGYwuinywywh swewjnipyntGlbn 4234 2,600.0 2,600.0 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 6,000.0 6,000.0 -
Gnpngntd b wwhwwOnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,500.0 1,500.0 -
- Jwpswywb uwppwynpniibbn 5122 7,096.0 - 7,096.0
- Wy ubpbOwobp L uwppwynpniibbp 5129 33,204.0 - 33,204.0

2250|102 | 5 | O | Nuwpwwuwlbnipnt G (wyy nuwubphl swwuwnlwlnn) 7,860.0 7,860.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 7,860.0 7,860.0 -
wyn pynLd’
2. Uypawnpwlpuyhl wipfuwnwlpuyhl 7,860.0 7,860.0 -
Swipuyni gyl hppwiluiGuigni J
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 7,860.0 7,860.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2400(04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 27,775,822.6 21,576,347.0 6,199,475.6
wyn pynLd’

2410104 | 1 | 0 | LanhwGnip pGnyph nnGunbuwlwa, 30,000.0 30,000.0 -
wrbinpuyhl b wpfuwnnwGph gény
hwpwptpnipn GGGn
nphg’

241104 | 1 | 1 |CGnhwOnip pGnyph nGunbuwywb L welinpwihG 30,000.0 30,000.0 -
hwpwptpnenLGbbn
wyn pynLd’
1. hpwdwfuwfuin ppphly webnph Yawnp yud 15,000.0 15,000.0 -
wpwluwnpunuyhl dhongn hunnily tnwpwédp
wnbnuithnfudwl b wwhwwidwl dwewnipintl
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 15,000.0 15,000.0 -
2. hlplwluwd wnbnwnpywd weluph, 15,000.0 15,000.0 -
SwepuynipyntG0Gph dunnigdwl opyiyunbGbnh
wwywdnbwnwddwl, wnbnwhnfudwl b
wwhuwwGdwl dwrwynipintGaGGn
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 15,000.0 15,000.0 -

2430104 | 3 | 0 |Ywrbhp L HaGpgwnhyw 1,773,110.3 75,332.4 1,697,777.9
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2435| 04 5 | biYunpwtGbpghw 1,773,110.3 75,332.4 1,697,777.9
wjn pyntd’
1. GYpnwwluwb GEpnpniduyghl pwlGlyh 838,724.3 75,3324 763,391.9
wowlgni pjuid) wlwGwgagynn «Gplwl,
taGpquiwipnm Gwybunnpiuly dpughp
- UpuinwphO ywnytph gény itnnynuwdwnbbn 4422 75,3324 75,3324 -
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 763,391.9 - 763,391.9
2. Uplbywl GYpnwuyh tabpquifuGuynnnipjwl 534,386.0 - 534,386.0
L plwwywhwwlGwlwl gnpéplybpni pjuwlb
bnlnh wowlgnipywdp hpwlywlwgynn
«GpLwlh FaGpquwpnynt Gwybunnpiuwly
ppwdwpGnphuyhl 6pwghp
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 534,386.0 - 534,386.0
3. «GpLuwlh tabpquiwpnni Guwybunnipjuwly 400,000.0 - 400,000.0
dnwaqnh hwdwdpbwbuwynpmd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 400,000.0 - 400,000.0

2450104 | 5 | 0 | Spwluwynpuwn 30,984,902.7 19,964,198.4 11,020,704.3
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwbuwnpun 20,485,501.8 10,464,797.5 10,020,704.3
wyn pynLd’
1. Uupuwyin-punnlyw swdlyh Ybpwlnpngnid 2,425,000.0 1,405,000.0 1,020,000.0
L wwhwwln g
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 1,405,000.0 1,405,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 1,020,000.0 - 1,020,000.0
2. Uuhwlwl qupquigdwl pwlyh 3,091,415.1 3,091,415.1 -
wowlgni prudp hpwiluGuigynn pwinwpuyhl
qunquigdwl GEpnpnidughlG
Spwghp(wunydhpwldwé hwgnpnipini GGEn)
- W 6wfuubin 4861 3,091,415.1 3,091,415.1 -
5. <GwnhninlG wlgndGlph Yuwemgnid L 79,000.0 - 79,000.0
YGpwlnpngniJ
- GLlpbph L 2hOneyntG0bnph Yuwwhuwy yepwbnpngnid 5113 79,000.0 - 79,000.0
6. Ywinpguyhl Yuenigdwdéplbph 390,000.0 90,000.0 300,000.0
Yepwlhwigan b wwhwwlmd
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 300,000.0 - 300,000.0
8. Uuwypninplbiph L thnnnglbph 471,113.3 - 471,113.3
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 371,113.3 - 371,113.3
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L 2hOneyntGOEnph Yuwwhunwy yepwbnpngnid 5113 100,000.0 - 100,000.0
9. ®nnnglbbiph wwhwwinid by ;whwgnpénid 1,218.3 1,218.3 -
- EGGpgbuinhy swrwynipnLbGbp 4212 868.3 868.3 -
- Ywuwh SwrwjnipnLtGbn 4214 350.0 350.0 -
10. UdwnnfyuywGunnbnh Yuquiwlbpnwdwl 428,034.0 428,034.0 -
Swpuyntpnt o
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 68,034.0 68,034.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- Uj) Swiuubn 4861 360,000.0 360,000.0 -
11. BapwhwppwlbGbph Yuenignid 100,000.0 - 100,000.0
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 100,000.0 - 100,000.0
12. Uuhwlwl qupquigdwl pwllyh 1,171,420.4 1,171,420.4 -
wowljgni prudp hpwilquiGuigynn punuwpuyhl
quinquigiwl Gepnpnduyhb épwgph
hwdwywpqmd L juewywpnid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- Wy 6wluutp 4861 1,171,420.4 1,171,420.4 -
13. ®nnnglbiph, hpwwwpwlbbph L uyghlbbph 488,771.0 85,300.0 403,471.0
Yuhwynpnig
- EGGpgbuinhy swrwynipnLGGep 4212 22,300.0 22,300.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 63,000.0 63,000.0 -
wwhwwntd
- Wy dbpbawobp L uwppwynpniibbp 5129 403,471.0 - 403,471.0
14. Awlwuwwphuyhl Gpplbyn piwl 765,928.6 765,928.6 -
widwnwbqnipiul wwywhnynid b
Swliwwywphunpwluwnpuughl
wuwwnwhwplbph yuwlfuwnpgbnid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- EGGpgbuinhy swrwynipnLGGep 4212 48,000.0 48,000.0 -
- Wy Swluutn 4861 717,928.6 717,928.6 -
15. Nawnwywl Grwlwlynipjwl 2,667,382.0 2,667,382.0 -
wywnnswlwwwphGbph
hhoGwlnpngm d(wwwnd hpwlyduwd
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 2,667,382.0 2,667,382.0 -
16. Spwluwnpunuyhl opllyunGlph 769,099.1 769,099.1 -
hhoGwinpngn U (wuindhpuilyduwié
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 759,099.1 759,099.1 -
17. Spwluwnpunuwghl hwdwlwpgh 7,647,120.0 - 7,647,120.0
wpnhwluwlwgntJ
- Spwluwnpuwihb uwppwynnpniibbn 5121 7,647,120.0 - 7,647,120.0
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2455| 04 5 |flunnnyuwywwnuwihb L wy; tnpwbuwnpun 10,499,400.9 9,499,400.9 1,000,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 1,000,000.0 - 1,000,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 1,000,000.0 - 1,000,000.0
2. GpLlwlGh dawnpnuynipunbiGh wpfuunnwlplbnh 2,641,750.0 2,641,750.0 -
Yuwqiwlybpynid (wundhpwldwé
[hwqnpnipni GGER)
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 2,641,750.0 2,641,750.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
3. dGpqbunlyw FGhuwnpwwnpuwluwnpuiny 628,000.0 628,000.0 -
nipbnpunhnfuwnpdwl éwewinipint
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 628,000.0 628,000.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
4. 6ypnuwwluwib dhnipiuwl hwplbwbGni pjuwl 331,5618.9 331,5618.9 -
GGpnpntduyhl pwlyh wowlygnipiudp
hpwywbwgynn GplwGh dGwnpnuwnihunboh
Ybnwlwenigdwl Gpypnpn npwdwGnphughl
Snwghp /wunnyd ppwilyywé (hugnpnipini GGEp/
- Uj) Swiuubn 4861 331,518.9 331,518.9 -
5. GYypnwwiuwil Gapnpniduyhl pwlyh 1,018,752.0 1,018,752.0 -
wowlgni pjuid) wlwGwagynn Gpluwl
dawnpnwn punbah JEpwlwemgdwa pnypnpn
Snwghp /wunnd ppwilyywé (hugnpnipini GGEp/
- W Swfuubin 4861 1,018,752.0 1,018,752.0 -
6. Gplwlbh dawnpnwn punbiGh 4,000,000.0 4,000,000.0 -
Glopwlwenigdwdpllinh ywemgnid
- Uj) Swiuubn 4861 4,000,000.0 4,000,000.0 -
7. GpLwGh dGwnpnwnihunbiGh 879,380.0 879,380.0 -
Glapwlwenigdwdpllinh Gnpngnid
(wuwwnyd hpuwiydwé (hugnpnipini GGbn)
- Uj) Swiuubn 4861 879,380.0 879,380.0 -

2470104 | 7 | 0 |Uy pOwqudwnrGbp 246,500.0 103,500.0 143,000.0
nphg’

2473\ 04 | 7 | 3 |2pnuwppontpintl 246,500.0 103,500.0 143,000.0
wyn pynLd’
1. 2pnuuippgnipyul quipquigntd 246,500.0 103,500.0 143,000.0
- SEnGYwuinywywh swewjnipyntGbbn 4234 17,000.0 17,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 63,000.0 63,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 13,500.0 13,500.0 -
Juaquwybpwnipyntbtphl
- Uj) Swiuubn 4861 10,000.0 10,000.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
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- Wy dbpbawobp L uwppwynpniibtbp 5129 120,000.0 - 120,000.0
- Ng Gynipwywl hhoOGwywb shonglbp 5132 23,000.0 - 23,000.0

2490104 | 9 | 0 | SGunbuwlwl hwpwpbpnpintGabp (wy (5,258,690.4) 1,403,316.2 (6,662,006.6)
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG (5,258,690.4) 1,403,316.2 (6,662,006.6)
swwuinywlnn)
wyn pynLd’
1. 2pnpG6ph wbnwnpnid 32,000.0 32,000.0 -
- CanhwOntp pGnyph w)p SwrwjnLpnLtGOEn 4239 32,000.0 32,000.0 -
2. Upwilygnipini O hwdwylipuyhla 223,332.8 223,332.8 -
Ywqdwlbpuwnipin GGERHG
hninwnpyuwynpnipini GGGpH hGwn uwwds
wiyswp dweuyntpintGGbph dwwnnigdwl b
qliptquwlwwnbbph wwhwwidwa hwdwn
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 207,873.6 207,873.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4637 15,459.2 15,459.2 -
hwdwyGpltbph ng wrbnpwihG
Juaquwybpwnipyntbtphl
3. Ywrpwdwpdwl L wnGnEyuwnywlwla 387,953.4 387,953.4 -
wbfulnnghwlbph qupquignid
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 387,953.4 387,953.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. Upwiygnipini b hwduwylpuyhl L ng 240,000.0 240,000.0 -
hwiwyGpuyhl uquwlbpwnipim Gabph
dpwanbnph
- Uy pbpwghy npwiw0Gnphbtn 4639 100,000.0 100,000.0 -
- W Ywwhuwnwi npwdw0nphltn 4657 40,000.0 40,000.0 -
- LdhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 100,000.0 100,000.0 -
Juaquwybpwnipyntbtphl
5. N5 dhbwluwluwl whywnhydbbph ownnwpnidhg (6,662,006.6) - (6,662,006.6)
dnuunpbin
uucunNd ant3eh hPUsNtUhS UNtSLEN 8111 (1,460,000.0) - (1,460,000.0)
cunrguuuu ank3eh hPUusSNHUNS UNESLEN 8121 (2,000.0) - (2,000.0)
<N1h hPUSNHUNS UNESLEN 8411 (5,200,006.6) - (5,200,006.6)
6. SnGwlwl dhwynpmy 123,920.0 123,920.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 123,920.0 123,920.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
7. <wunwluwqdh wfuwwuwnpwundwl b 34,510.0 34,510.0 -

Yuquidwl wpfuwnwlplbbn
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- Untpuhnhwbp ng wGwnwywh (ng hwdwbpuwihb) ng 4521 34,510.0 34,510.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
8. Ubpnpniduyhl épwagpbiph hppwlwlwgnid 224,600.0 224,600.0 -
- SbnGYwuinywywh swrewjnieyntGbbn 4234 6,000.0 6,000.0 -
- Ywrwywnswlwb swewjnipntbGbbn 4235 8,000.0 8,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 5,000.0 5,000.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 205,600.0 205,600.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
9. <punwwy (nidnid wwhwlignn pGpuwghly 137,000.0 137,000.0 -
upfuwnnulplbinh Apwlubwgn:J
- Uj) Swiuubn 4861 137,000.0 137,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNrh mucsmuunt@3Ntu 10,754,330.8 9,015,319.5 1,739,011.3
wyn pynLd’

2510/05| 1 | 0 |Unpwhwlnid 5,350,374.3 5,304,399.3 45,975.0
nphg’

2511105| 1 | 1 [UnpwhwOntd 5,350,374.3 5,304,399.3 45,975.0
wyn pynLd’
1. Unpwhwlnipntb b uwGhunwpwlywl 104,000.0 64,000.0 40,000.0
duwpnnid
- UndntGwy SwrwynipntbbBn 4213 7,000.0 7,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 50,000.0 50,000.0 -
wwhwwntd
- <wwnnty Gwwuinwywihb wyp neptn 4269 7,000.0 7,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 40,000.0 - 40,000.0
2. Unpwininbiph uywuwnpldwl b 231,511.0 231,5611.0 -
2hGwpwpuwlywl wnph wnbnuhnfudwl
Swpuyntpnt GGG
- UndntGwy SwrwynipntbbBn 4213 231,511.0 231,511.0 -
3. «Gpluwlh wnpwhwbnipinib b 5,000,763.3 4,994,788.3 5,975.0
uwlhnwpwlul dwppnidy hwdwyGpuyhl
hhdGwnplyp wwhwwGdwo swiuubin
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 3,084,820.0 3,084,820.0 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 97,636.3 97,636.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGep 4212 13,104.0 13,104.0 -
- UndntGwy SwrwynipntbbBn 4213 5,000.0 5,000.0 -
- Ywuwh SwrwjnipnLtGbn 4214 1,608.0 1,608.0 -
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- Uywhnjwgnwywb dwfuubin 4215 15,006.0 15,006.0 -
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 1,000.0 1,000.0 -
- {wiwywngswihb dwrewjnipynLalbn 4232 258.0 258.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 7,000.0 7,000.0 -
- UbpbOwObph L uwppwydnpnidbbph pbpwghy 4252 223,350.1 223,350.1 -
Gnpngntd b wwhwwGnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 4,750.0 4,750.0 -
- Spwluwnpuwihb Gnipkn 4264 1,187,805.9 1,187,805.9 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 500.0 500.0 -
- <wwnnty Gwwuinwywihb wyp ineptn 4269 350,000.0 350,000.0 -
- Mwpunwnhp y&wnobn 4823 2,950.0 2,950.0 -
- Jwpswywb uwppwynpniibbn 5122 500.0 - 500.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 5,475.0 - 5,475.0
4. «GpLwlh Ynywn puihnllGbph Ywewywpdwl 14,100.0 14,100.0 -
dnwaqhn» dpwgph ppwlwlylGlpnd
UwuhwlnidGbph qény dwpnidGbph
wnpwdwnnpnid
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 14,100.0 14,100.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2520105 | 2 | 0 | Ybnuwgnbph hGrwgnid 1,693,036.3 - 1,693,036.3
nphg’

2521|/05| 2 | 1 |Ybnwwontph hbrwgntd 1,693,036.3 - 1,693,036.3
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhywghnl guiligbph 1,693,036.3 - 1,693,036.3
Yupnignid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 1,693,036.3 - 1,693,036.3

2530|105 | 3 | 0 |Cpowlw dhowduyph wnuinundwa nbd wwypwpn 52,983.0 52,983.0 -
nphg’

2531(05| 3 | 1 |Onh wnununiwl nbd wwypwnp 52,983.0 52,983.0 -
wyn pynLd’
1. QGwnbiph hniGGph dwppmd 38,683.0 38,683.0 -
- UndntGwy SwrwynLpntbbEn 4213 38,683.0 38,683.0 -
2. Cpowlyw dhowduyph b1 onh wnunundwl 14,300.0 14,300.0 -
nbd dhongwenidGbph hpwlwlwgnid
- Uy pbpwghy npwiw0Gnphbtn 4639 14,300.0 14,300.0 -

2560|105 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 3,6567,937.2 3,6567,937.2 -
nwubphl swuwnluwbnn)
nphg’
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2561| 05 1 |Cpowyw thowdwnh wwunwwbnipintb (wy nwubph 3,657,937.2 3,657,937.2 -
swwinywlnn)
wyn pynLd’
1. Ywlws wnwpwdplbph hhoGnid L 3,300,000.0 3,300,000.0 -
wwhuwwbnig
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 3,300,000.0 3,300,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. Bunhwenn Y&aGnwahGbph Jowuwqbindnid 275,937.2 275,937.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywl 4511 275,937.2 275,937.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
5. Gplwlyw 1Ah b1 <pwgnwlb gbinnh 82,000.0 82,000.0 -
plwwywhwwliwlwl wwpwnwwbntd &1 dwppnitd
- UndntGwy SwrwynipntblGn 4213 82,000.0 82,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuururnHe3NFL G4 3,039,099.1 2,519,099.1 520,000.0

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl hGwpwpnipintl 897,665.8 397,665.8 500,000.0
nphg’

261106 | 1 | 1 |ROwywpwOwihlb 2hGwpwpneeintb 897,665.8 397,665.8 500,000.0
wyn pynLd’
1. hapGwlwd urnyglabph pwannid 20,000.0 20,000.0 -
- Uj) Swiuubn 4861 20,000.0 20,000.0 -
2. 2nppnpn wuwnhAwlh Jpwpuyhb 26Gpbph 7,920.0 7,920.0 -
pwlindwl hGwnlwlpny
plwlwnwipnuwiénipim GGGphg gplyuws
plwlhsGGph Ynnihg Jupdwluwyws
plwlwnwlGEph thnfuhwwnnigni d
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 7,920.0 7,920.0 -
3. 2nppnpn wuwnhAwlh Jpwpuihb 26Gpbph 500,000.0 - 500,000.0
pwlindwl hGwnlwlpny
plhwlwnwipnuwiénipim GGGphg gplyuws
plwlhsa6ph hnfuhwwnnigdwl hwiwpn
plwlupwlGbnph dGrppbpnid
- Gtlpbnh L 2hbnpyniGbbnh dGrppEnpnLd 5111 500,000.0 - 500,000.0
4. Ypwpuyhl 6Gpliph Ypwplwlybgdwl 369,745.8 369,745.8 -
dpwagph hpwgdwl dhonguen dlbn
- W Gwwuwnbbp pinuobihg 4729 369,745.8 369,745.8 -

264006 | 4 | 0 | @nnngltph (ntuwydnpnd 2,105,983.1 2,105,983.1 -
nphg’

2641|/06 | 4 | 1 |®Onnnglbph |ntuwynpnid 2,105,983.1 2,105,983.1 -

wyn pynLd’
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o Annywdh
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7
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2. Unwnwphl ntuwdnpnipiwl gulgh
2whwaqnpodwl b wwhwwGdwl

wpfuunnuwliplbin

2,065,804.8

2,065,804.8

- Untpuhnhwltp ng $hOwbuwywl wtnwyw
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

2,065,804.8

2,065,804.8

3. dGpwlwenigdwl L qupqugdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nLuwynpnipjwly npwdwGnphughl Spwghn
(wuwinyhpwdwd jhwgnpnipin GGEn)

1,018.7

1,018.7

- W Swfuubin

4861

1,018.7

1,018.7

4. dGpwlwpengdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipyudp
hnwhwiwgynn «Gplwlh punwpuyhl
(nLuwynpnipjuly dpwghp (wuwwndhpwlydwds

[hwqnpnipni GGER)

28,972.1

28,972.1

- W Swfuubin

4861

28,9721

28,9721

5. UnbLGywl G4pnwuyh Labpquifubuynnni pjuil
L plwwwhwwlGwlwl gnpéplybpnippulb
Dbnlnh wowlygni pypudp hpwlwawgynn
«Gplwlh punwpuyhl (niuwynpnipuily
gpwdwGnphuyhl spwghp (wwandhpwlydwés
[hwqnpnipni GGER)

10,187.5

10,187.5

- W Swfuubin

4861

10,187.5

10,187.5

2650

06

Phwhwnwluyhl ;hbwpwpmipjwa b YndniGuy
SwreuynLpyntGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn

20,000.0

20,000.0

nphg’

2651

06

POwywpwbwihb hGwpwnnipjwb L YyndntGuwy
SwrwjnLpntbbEph gény hunwgnunwyw L
Owfuwgbwihb wpfuwwnwbpbtbn

20,000.0

20,000.0

wyn pynLd’

1. Cblptinh L phGnipnt GGGph hGuwnwgnundwl
wpfuunnuwliplbin

20,000.0

20,000.0

- LwjuwgdwhbGunwgnunwywb dwiuutin

5134

20,000.0

20,000.0

2660

06

Phwhwnwluyhl ;hbwpwpmipjwa b YndniGuy
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)

15,450.2

15,450.2

nphg’

2661

06

POwywpwlwihb hbwpwnnipjwb L YyndntGuwy
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

15,450.2

15,450.2

wyn pynLd’

6. Ywpuwyunlbbph L gnypt; whwwlntd

15,450.2

15,450.2

- LOpwghy npwdwbnphbbp wewnwywb L
hwiwjopwht wrluinpwiht YuwqdwytpwneentGbsph

4638

15,450.2

15,450.2

2700

07

unnnUMULNHE3NEL

343,688.0

99,340.0

244,348.0

wyn pynLd’

53




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2710107 | 1 | 0 | AdoYuwlwl wypwapllp, uwppbp L 204,180.0 - 204,180.0
vwppwynpnidabp
nphg’

271107 | 1 | 1 |Ynwgnpéwywl wwpwbpbbn 204,180.0 - 204,180.0
wyn pynLd’
1. Upnnowwwhwlwl JuqdwlybpwnipiniGGbph 204,180.0 - 204,180.0
hwiwn pdyyuwlul uwppwynpmdbbph b
gniph dGpppbpnid
- Wy dbpbawobp L uwppwynpniibbp 5129 204,180.0 - 204,180.0

2760|107 | 6 | 0 | Urnnowuwwhnipynil (wy nwubiphG 139,508.0 99,340.0 40,168.0
swunljwilinig)
nphg’

2761|07 | 6 | 1 |Urnnowwwhwywb hwpwyhg dwrwjnipntbbtn L 139,508.0 99,340.0 40,168.0
Spwgntip
wyn pynLd’
1. Upnnowwwhwlwl opllunGlph 40,168.0 - 40,168.0
hhdGwGnpnqnid
- GLlpbnh L 2hOneyntG0Enph Yuwwhuwy yepwbnpngned 5113 40,168.0 - 40,168.0
2. MdYwnwidunsbrh hburnwgnunnipiniGG6ph 99,340.0 99,340.0 -
hpwlwlbwgnid
- Uwulwghunwywb swrwjnipjntbbbn 4241 99,340.0 99,340.0 -

2800(08| 0 | 0 <Uuahus, ucuuntse b4 urnu 7,706,117.5 6,293,366.1 1,412,751.4
wyn pynLd’

281008 | 1 | 0 |<whquwnh L uwynpuwnh SwewynipinGlGGn 3,602,393.4 2,529,642.0 1,072,751.4
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGep 3,602,393.4 2,529,642.0 1,072,751.4
wyn pynLd’
1. UynpunuyhG dhonguenidGbph 256,800.0 256,800.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 185,300.0 185,300.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 15,500.0 15,500.0 -
- Unppwlw(, dowyntpwihb L uynpunwihb GwywuwnGbp 4727 40,000.0 40,000.0 -
pintetihg
- LuhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 16,000.0 16,000.0 -
Juaquwybpwnipyntbtphl
2. <wlquinh gninhlGbph L gpnuuyghlGbph 1,145,593.4 72,842.0 1,072,751.4
Ywenignid n wwhwwlnid
- EGGpgbuinhy swrwynipnLGGep 4212 39,000.0 39,000.0 -
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- UndntGwy SwrwynipintbbBn 4213 8,000.0 8,000.0 -
- Uyl pbpwghy npwiw0Gnphbtn 4639 25,842.0 25,842.0 -
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 36,936.0 - 36,936.0
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 1,035,815.4 - 1,035,815.4
3. Gplwlh priuwpwlwluwl uygnt 2,200,000.0 2,200,000.0 -
wnwpwdpm d whwnwewwnipwlh
Ywpn guwuiindwl wpfuwinwaplbn
- Uj) Swiuubn 4861 2,200,000.0 2,200,000.0 -

2820|108 | 2 | 0 |Vpwlynipuyhl swruwynipinGabp 4,083,135.1 3,743,135.1 340,000.0
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 313,100.8 273,100.8 40,000.0
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 273,100.8 273,100.8 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 273,100.8 273,100.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. QnuinuwpwlGbph hwdwp wohpwdbun 40,000.0 - 40,000.0
qniph dbep papnid
- Ng Gynipwlwl hhoOwywb shonglbp 5132 40,000.0 - 40,000.0

2822|108 | 2 | 2 |(Bwlqwpwbbbn L gnigwupwhbbn 360,301.0 360,301.0 -
wyn pynLd’
1. Pwlqupwluyhl Swewyntpim GGEn L 360,301.0 360,301.0 -
gnigwhwinbulbp
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 360,301.0 360,301.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 [Uwyniph inbbn, wynidpdtn, YebwnpnbGenp 40,832.9 40,832.9 -
wyn pynLd’
1. <wduylGpuyhl dpwlynyph L wquin dwdwlgh 40,832.9 40,832.9 -
Yuqdwlbpwni d
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 40,832.9 40,832.9 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 2,454,404.8 2,454,404.8 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidalbph 2,024,500.0 2,024,500.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,659,500.0 1,659,500.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 365,000.0 365,000.0 -
Juaquwybpwnipyntbtphl
2. YGhnwlwpwlwlwl wigm 429,904.8 429,904.8 -
gnigwnpnipnLGGGn
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 429,904.8 429,904.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2825/08| 2 | 5 |UpyLuwn 914,495.6 614,495.6 300,000.0
wyn pynLd’
1. Gpuwdrwnwnybuwnp L wwpwpdbuwnh 153,234.6 153,234.6 -
hwdbnqlbp
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 153,234.6 153,234.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Puwnbpwlwl Gapyuywgnidabn 461,261.0 461,261.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 461,261.0 461,261.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
3. BunpnlGbph hhdGuwlnpngnid 300,000.0 - 300,000.0
- GLlpbph L 2hOneyntGbbnph Yuwwhuwy yepwbnpngnid 5113 300,000.0 - 300,000.0

2840/08 | 4 | 0 | Ypnbwlwl b hwuwpwluwlwl wyy 20,589.0 20,589.0 -
SwewynLpynLGGEN
nphg’

2841/08| 4 | 1 |Ephvnwuwpnwywb 6pwgnkp 3,000.0 3,000.0 -
wyn pynLd’
1. Eppurnwuwnnulwl shonguwenidGbnh 3,000.0 3,000.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipjntbbbn 4241 1,000.0 1,000.0 -

2843|08 | 4 | 3 |UpnGwywl L hwuwpwywywb wy Swewntpyntblbn 17,589.0 17,589.0 -
wyn pynLd’
1. UGnwdwlygntpjul Awnpbbn 17,689.0 17,689.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 17,589.0 17,589.0 -
Juaquwybpwnipyntbutphl

2900(09|0 | O uPENH33NHL 25,387,208.7 24,993,353.4 393,855.3
wyn pynLd’

2910109 | 1 | 0 | bwfuwnuwpngwwa L tnwppwlwa pGnhwnin 13,073,239.2 12,923,239.2 150,000.0
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 5,310,767.2 5,160,767.2 150,000.0
wyn pynLd’
1. Lwfuuwi nguwlwl niunignid 233,262.6 233,262.6 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 2,200.0 2,200.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 231,062.6 231,062.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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N

N

w

N

5

o Annywdh
MM

7

8

9

2. Lwfuw nguwljwl ntuntgdwl
Lwqiwlbnwiwl hwdwn wGhpwdbw gniph

dbrp pbpnid

680,000.0

530,000.0

150,000.0

- <wwnnty Gwwuinwywihb wyp neptn

4269

30,000.0

30,000.0

- W Ywwhunwi npwdw0nphltn

4657

500,000.0

500,000.0

- Wy dbpbawobp L uwppwynpniibtbp

5129

150,000.0

150,000.0

3. Lwfuwi ngwlwi nLpjwl
hwuwGbhmppwl b npwyh wwwhnydnid
(wuwinyhpwydwd jhwgnpnipin GG6n)

22,719.2

22,719.2

- Untpuhnhwltp ny $hOwbuwywl wtnwywl
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

22,719.2

22,719.2

4. Unghuwywyw npn) fjudpbph 1.5-5
wnwpblwl Gpbluwlbph Gwiuwnuwpnguwlwl
Yppnipiwl wwwhnynid /wyuwwndhpwlyduws
[hwqnpnipni GGGp/

668,844.2

668,844.2

- W Gwwuinbbp pinuotihg

4729

668,844.2

668,844.2

5. Nwnwluwl wowlgnipjuwdp hpwlwlwgynn
Guwfuw ngwwl ntunt0Guiula
hwuwnuinnipint GaGph Yuenignid i

hhdGwGnpnqnid

3,691,770.4

3,691,770.4

- W Swfuubin

4861

3,691,770.4

3,691,770.4

6. Vwulwahunwlwl qupquigiwl b
Ywnduwnpni puil thnfujuwuwwlygywd
hwdwlwpgh GEpnpnd Gwiuwnupnguluwl
hwuwnuinnipynt GGGph dwlyuwdwnpdGbphl
wnwnwlwnpgh 2Gnphdwl gnpdplpuwgh
Uhgngny/wuinyppwlyywd jhwgnpnipini GaGn/

8,280.0

8,280.0

- W Gwwuinbbp pinuotihg

4729

8,280.0

8,280.0

7. Lwfuwnuwpnguwlwl dpwapbn

hpnwlwGwglnn nium dGwluwl
hwuwnuinnipint Gaph dwbluwywndabnh
YEpwwuwwnpwuwnnid (wuwandppwlyduwéd

[hwqnpnipni GGER)

5,890.8

5,890.8

- W Gwwunbbp pinuobihg

4729

5,890.8

5,890.8

2912

09

Swppwywb pGnhwbnip Ypenipntl

7,762,472.0

7,762,472.0

wyn pynLd’

1. <wlpwyppwlwl ntunignid

7,762,472.0

7,762,472.0

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

7,762,472.0

7,762,472.0

2920

09

Uholwluwnpg pGnhwGnip Yppnipint

10,226,675.2

10,226,675.2

nphg’

2921

09

<hobwywb parhwnip Ypenepjne

9,927,183.0

9,927,183.0

wyn pynLd’
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Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’
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$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

1. <wlpwlyppwlwl ntunignid

9,527,499.4

9,527,499.4

- Untpuhnhwtp ng $hOwbuwywl wtnwywl
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

9,5627,499.4

9,5627,499.4

2. Phwqhunwlul ninpunh wpwpluwlbbn
nuuwywannn nruntghsGbpht hwybjwyswph
wpwdwnpmd (wwndhpuwldws

[hwqnpnipni GGER)

399,683.6

399,683.6

- W Gwwuinbbp pinuobihg

4729

399,683.6

399,683.6

2922

09

Uhglwluwng (iphy) panhwbnip Ynpnipjnil

299,492.2

299,492.2

wyn pynLd’

1. <wlpwlyppwlwl ntunignid

299,492.2

299,492.2

- Untpuhnhwtp ng $hOwbuwywl wtnwywb
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

299,492.2

299,492.2

2950

09

Luwn dwwpnuyGbph snwuwlupgdnn
Uppenipyntl

1,226,676.9

1,128,807.9

97,869.0

nphg’

2951

09

Upunwnwnngwywl nwuwnhwpwynteinta

1,226,676.9

1,128,807.9

97,869.0

wyn pynLd’

1. Upwnw ngwlwl nwuwnhwpwlynipini

1,052,412.9

1,052,412.9

- EGGpgbuinhy swrwynipnLGGen

4212

7,929.2

7,929.2

- Untpuhnhwlbp ng $hOwbuwywl wtnwywl
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

1,044,483.7

1,044,483.7

2. Ununwnuwpngulul
Yuqdwlbpwni pini GaEph hwdwp wihpwdbun

qgnyph dtrp pbpmid

97,869.0

97,869.0

- Wy dbpbawobn L uwppwynpniibbp

5129

97,869.0

97,869.0

3. «<wlynp Ynomwily Yppwhwdwipp MNUY-
nLd wpunw ngwlwl nwuwnhwnpwlyni pjwl
Ywqdwlybpumd (wuwndhpwldwoé
[hwqnpnipni GGER)

6,793.0

6,793.0

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

6,793.0

6,793.0

4. Gpwdrwnwywl L wpdbuwnh nupnglbpnid
wqquyhl jwpuyhl L thnnuyhl Gdwquinwbabnh
qény ntunignid

60,353.9

60,353.9

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

60,353.9

60,353.9

5. Ywdwynp wnbuwnwynpdwl Gnp
hwdwlwpgh Gepnpntd” ninnywé
wnunwnupnguwywl nium dawluwl
hwuwnuinnipynt GGGph dwlyuwdwpdwlwl
wpfuwinnnlbiph npwlyh pwpdpwgdwln
(wuwinyhpwdwd jhwgnpnipin GGEn)

9,248.1

9,248.1
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- W Gwwunbbp pinuobihg 4729 9,248.1 9,248.1 -

2960|109 | 6 | 0 | Yppnpywlp wpwdwnpynn odwlnwy 860,617.4 714,631.1 145,986.3
SweuynLpynLGGEN
nphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy SwrwjnipntbGbbn 860,617.4 714,631.1 145,986.3
wyn pynLd’
1. Lwfuuwi nguwlwl hwuwnuwiinni pint GGG 11,986.3 - 11,986.3
Ywpnignid L Gpwlnpngnid
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 11,986.3 - 11,986.3
2. Mypngulwblbph ojhdwhwnwlbph b wyy 74,000.0 74,000.0 -
Uhongwpem dG&ph Yuquiwlbpwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 74,000.0 74,000.0 -
3. Uwnbuwnwynpdwl dhongny npwlwynpnid 37,662.2 37,662.2 -
utnuwiguid niunighslGphl hubywdAwiplbnh
wpwdwnan 0 (wuwndppwldwo
[hwqnpnipni GGER)
- W Gwwuinbbp pinuotihg 4729 37,662.2 37,662.2 -
4. <wlpwyppwlwl hhdGwlwl épwgpbn 14,104.7 14,104.7 -
hpwlwbwglnn niunt dGwlwb
hwuwnuinnpint GaGph hbppwlwa
wwnbunwynpiwl GGpwlw ntunighsGph
Yepwuwuwwnpuwuwnn d (wuwndhpwldwé
[hwqnpnipni GGER)
- Ui Gwwuwnlbp pjnietihg 4729 14,104.7 14,104.7 -
5. Ywdwynp wnbuwnwynpdwl hwdwlwnpgh 588,864.2 588,864.2 -
GGpnpnid” minnywd nrunighsGbph npwyh
pwndnwagdwln
- W Gwwuinbbp pinuobihg 4729 588,864.2 588,864.2 -
6. <wlpwyppwlwl hwuwnwwnnipni Ga6Eph 134,000.0 - 134,000.0
hhdGwGnpngnid L JGpwlnpngnid
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 134,000.0 - 134,000.0

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 1,905,336.0 1,895,836.0 9,500.0
wyn pynLd’

304010 | 4 | 0 | LOawnwGhph wonwoabn L quywllbn 9,600.0 5,600.0 4,000.0
nphg’

3041110| 4 | 1 |COnwOhph winwabbn L quywybtn 9,600.0 5,600.0 4,000.0
wyn pynLd’
2. Vpwhynipuyhl L Yppwlwl dhonguentdbabn 3,300.0 3,300.0 -
Yuwlph nddwphl hpwypswlynid huyunGywds
GpGfuwbtiph hwdwn
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 3,300.0 3,300.0 -
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$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

3. Gpbfuwlbphl wowlgdwl Gwuwnwyny
hunnntly ublyulGph unbndmd Gpluwl
pwnuwph Jupswluwl powlabpmd

5,800.0

1,800.0

4,000.0

- Ywrwywnswywb swewjnipntbGbbn

4235

1,800.0

1,800.0

- Jwpswywb uwppwynpniibbn

5122

4,000.0

4,000.0

4. <wlpwyppuwlwl nupnglbnn d Gpbluwlbbph
hpnwyniGpltiph Gpwpbpnuwy
hpwqbydwéni ppul pwpdpwgnd

500.0

500.0

- Ywrwywnswywb swewjnipntbGbbn

4235

200.0

200.0

- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn

4239

300.0

300.0

3070

Unghwjwluwl hunnty wpuinnGnipint GGG (wyy
nwubphl swuwnluwbnn)

133,224.0

127,724.0

5,500.0

nphg’

3071

Unghwjwyw0 hwunnty wpunnGnegntGbbn (wyg
nuwubphb swywunywbnn)

133,224.0

127,724.0

5,500.0

wyn pynLd’

1. GpLwl punwpnd Gpbfuwlbph L
unghwywlwl wwpwnwwbnippuwl npnpunntd

G6pnpywo Gnp hwdwlwpgh wpn Guwluwljwa

quipquigntd " wpryntGwdbun Ywewywpdwl

Owuwinwyny

5,000.0

5,000.0

- Uluwwnwywgih dwubwghunwywb qupgugiwl
SwrwjnLpnLbbEn

4233

5,000.0

5,000.0

3. <wuwnpwluwlwl quqdwlybpuwnipini GGGphG

wowlgnipint G

42,000.0

42,000.0

- LuhpwwnynipyntbGbp wy whniyp shGunwwGnnn
Juaquwybpwnipyntbtphl

4819

42,000.0

42,000.0

4. Swpptp unghwywlwb fudpbph hwdwnp
GplLwl hwdwyGpm d npwlywy unghwjwluwl
Swpuynipynt G0Gph Yuqdwybnwnid

29,224.0

29,224.0

- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn

4239

20,224.0

20,224.0

- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b
wwhwwntd

4251

9,000.0

9,000.0

6. Gpluwl pwnwpntd hwdwylGpuyhl
unghuywlwl dwpwynipini G0Gph GEpnGnLd L
hpwlwlbwgnid

7,000.0

7,000.0

- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn

4239

7,000.0

7,000.0

7. Upunwluwing ppwdhAwlGbpnid b
Ldwlwwnpy wy nGupbpnid wiph ndduwphl

hpwyhswyEpnid huyunGywd wadwlg b
pawnwGhphlGbphl wowlygnipiniG

20,000.0

20,000.0

- Ushgwnuwihb L hwbpwhG ubbnh 0NN

4267

20,000.0

20,000.0

8. Gpluwl punuph unghwywlwb
wowlgnipywl Yapwpbpyw; ywdwynp
fuGnhplbph (niddwll ninnywéd
UhongwenidGbn

19,000.0

13,5600.0

5,500.0

60




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,500.0 1,500.0 -
- W Gwwuinbbp pinuobihg 4729 8,000.0 8,000.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 5,500.0 - 5,500.0
9. Unghwywlwl wowlygnipjwl Yuphp 11,000.0 11,000.0 -
nLGbgnn plunwGhplbphl Yuynt b Ghwdniwn
wwwhnybynt Gwuwnwlny gqpunywéntpjwl
Snwgnpbipp yuqdwlybpwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 11,000.0 11,000.0 -

3090/10| 9 | 0 |Unghwjwlwl wwpwnwwlnipinib (wyy 1,762,512.0 1,762,512.0 -
nwubphl swuwnluwbnn)
nphg’

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnpynn 1,762,512.0 1,762,512.0 -
odwlnwy dwrwnipintbbtn (wy; nwuknhl
swwinywlnn)
wyn pynLd’
1. MGwnwlwl hhdGwplGlph L 666,792.0 666,792.0 -
Ywquiwlbpuwnipint 6G6pH wfuwnnnbbnh
unghwywywl thuwpbpny wwwhnynid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- W Gwwuinbbp pinuotihg 4729 666,792.0 666,792.0 -
2. Uennonipjwl wwwhndwapnipintG 1,095,720.0 1,095,720.0 -
- Uywhnjwgnwywb dwfuubin 4215 1,095,720.0 1,095,720.0 -

3100{11|0 | O <hULuUyUL PUGhLLENPL 2UUYNN 8,548,455.9 24,384,627.7 1,100,000.0

nuU{NFUSU3hL dNuIEN

wyn pynLd’

3110111 | 1 | 0 | << urwdwpnipywl L hwdwylGplbph 8,548,455.9 24,384,627.7 1,100,000.0
wwhniuwnuyhl pnhn
nphg’

3112{ 11| 1 | 2 | << hwidwbpltph wwhniunwhG $nln 8,548,455.9 24,384,627.7 1,100,000.0
wyn pynLd’
- MwhntuwnwihG dhengGbn 4891 8,548,455.9 7,448,455.9 1,100,000.0
-{wunyuwgned wwhrunwhb $nlnhg $nlnuwhb pjniok X - 16,936,171.8 -
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Unyntuwy 2

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

uauou3uy JduNr2uuuu crRULh yuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
LLNUUBLE SUUBP 3,670,318.7 3,016,163.6 654,155.1
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 503,279.1 480,279.1 23,000.0
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 493,779.1 478,779.1 15,000.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 493,779.1 478,779.1 15,000.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 493,779.1 478,779.1 15,000.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 409,778.2 409,778.2 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 12,375.4 12,375.4 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 10,526.8 10,526.8 -
- UndntGwy SwrwynipntbbBn 4213 1,001.3 1,001.3 -
- Ywuwh SwrwjnipnLtGbn 4214 10,154.4 10,154.4 -
- Uywhnjwgnwywb dwfuutin 4215 861.0 861.0 -
- Ywnswywl Swewjnipntbbbn 4231 300.0 300.0 -
- {wiwywngswihb SwrewjnipynLblbn 4232 200.0 200.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 500.0 500.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipntbbn 4241 600.0 600.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 6,000.0 6,000.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 3,000.0 3,000.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- Spwluwnpuwihb Gjnipkn 4264 16,640.0 16,640.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,000.0 2,000.0 -
- Mwpunwnhp y&wnobn 4823 842.0 842.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 15,000.0 - 15,000.0
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 8,000.0 - 8,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 8,000.0 - 8,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 8,000.0 - 8,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 8,000.0 - 8,000.0
2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 1,500.0 1,500.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,500.0 1,500.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdobp, hwygunhdnidlbp, nunwpwGh 500.0 500.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 500.0 500.0 -
2. Qnuyph Ghundwdp hpwyniGplbph 1,000.0 1,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -
2200(02|0 | 0 nuUCSMULNHB3NFL 1,000.0 1,000.0 -
wyn pynLd’
2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 1,000.0 1,000.0 -
nphg’
2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,000.0 1,000.0 -
wyn pynLd’
1. 2hGwwwmunGbiph hwyJwedwl, gnpuwlynsh, 1,000.0 1,000.0 -

gnpwhwywph b Jupdwluwlb hwywplbbph
YuqiwlbnuwdwOl wowlgnipin
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 1,000.0 1,000.0 -

2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 249,000.0 219,000.0 30,000.0
wyn pynLd’

2420|104 | 2 | O | Yninuuwnbuwnbunipnt G, whwnweuyhl 10,000.0 - 10,000.0
wnbwnbunipinil, d4Gnpunipinl L
npunpnnipinLG
nphg’

2424|104 | 2 | 4 |Nengnud 10,000.0 - 10,000.0
wyn pynLd’
1. Nenquwl gulgh Yuenignid L 10,000.0 - 10,000.0
YGpwlnpngniJ
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 10,000.0 - 10,000.0

2450104 | 5 | 0 | Spwluwynpuwn 201,000.0 181,000.0 20,000.0
nphg’

2451|104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 191,000.0 181,000.0 10,000.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 118,000.0 118,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 118,000.0 118,000.0 -
wwhwwntd
3. Gqnwpwnptinh YGpwanpngnid 30,000.0 30,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlnpngnid 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 30,000.0 30,000.0 -
Ybpwlwenignid L hhdGwlnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
11. BapwhwppwlGbph Yuenignid 1,000.0 1,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 1,000.0 1,000.0 -
wwhwwntd
13. ®nnnglbph, hpwwwpwlyGbph L uyghliph 10,000.0 - 10,000.0
Yuhwynpnig
- Wy dbpbawobn L uwppwynpniibtbp 5129 10,000.0 - 10,000.0

245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 10,000.0 - 10,000.0
wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

1. dbpGjwlyGph hhdGwlnpngnid 10,000.0 - 10,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 10,000.0 - 10,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 38,000.0 38,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 38,000.0 38,000.0 -
swwuinywlnn)
wyn pynLd’
9. <punwwy (nidnid wwhwlignn pGpuwghly 38,000.0 38,000.0 -
upfuwnnulplbinh Apwlubwgn:J
- Uj) Swiuubn 4861 38,000.0 38,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNrh mucsmuunt@3Ntu 60,000.0 - 60,000.0
wyn pynLd’

2520105 | 2 | 0 | Ybnuwgnbph hGrwgnid 60,000.0 - 60,000.0
nphg’

2521|/05| 2 | 1 |Ybnwwontph hbrwgntd 60,000.0 - 60,000.0
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhywghnl guiligbph 60,000.0 - 60,000.0
Yupnignid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 60,000.0 - 60,000.0

2600(06| 0 | O pLULUNULUSHL ChuUuNruQrnHe3NFL B4 634,155.1 105,000.0 529,155.1

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2640|06 | 4 | 0 | @nnnghtiph ntuwynpnid 5,000.0 5,000.0 -
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynnpnid 5,000.0 5,000.0 -
wyn pynLd’
2. Upwnwphl jntuwdnpnipiwl gulgh 5,000.0 5,000.0 -
2whwagnpédwl L wwhwwGdwl
wpfuunnuwliplbin
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 5,000.0 5,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2660|106 | 6 | 0 | Phwlwpwluyhl hGwpwpnipyuwl b ndniGuy 629,155.1 100,000.0 529,1565.1
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 629,155.1 100,000.0 529,155.1

SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. Pwquiwpbwluwpwl 26Gpbph hwpp 15,000.0 15,000.0 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 15,000.0 15,000.0 -
2. Pwquiuwpbwluwpwl 26Gpbph pbip 15,000.0 15,000.0 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 15,000.0 15,000.0 -
3. Pwluyhl tnwipwdpllinh b 560,155.1 31,000.0 529,155.1
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 31,000.0 31,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntG0Enph Yuwwhuwy yepwbnpngnid 5113 500,155.1 - 500,155.1
- Wy dbpbawobp L uwppwynpniibbp 5129 29,000.0 - 29,000.0
4. Puqilwplwluwpwl 26Gpbnh pwnpbliwnqdwl 39,000.0 39,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 27,000.0 27,000.0 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 12,000.0 12,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph

2800(08| 0 | 0 <Uuahus, ucuuntse b4 urnu 271,787.8 271,787.8 -
wyn pynLd’

2810/ 08 | 1 | 0 | <wlquuwnh L uynpunh éwrwynipintGabn 34,500.0 34,500.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwnipntbGbp 34,500.0 34,500.0 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 8,500.0 8,500.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 8,500.0 8,500.0 -
2. <wlquinh gninhlGbph L gpnuuyghlGbph 26,000.0 26,000.0 -
Ywenignid n wwhwwlnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 26,000.0 26,000.0 -
wwhwwntd

2820108 | 2 | 0 |Vpwlynipuyhl SwruwynipintGabp 237,287.8 237,287.8 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 85,568.9 85,568.9 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGEn 85,568.9 85,568.9 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 85,568.9 85,568.9 -

(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2823| 08 3 |Uwynyph inlbtkn, wynidpdtn, YebunpnbGep 126,168.9 126,168.9 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquin dwdwlgh 126,168.9 126,168.9 -
Yuqdwlbpwni d
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 126,168.9 126,168.9 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 25,550.0 25,550.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 25,650.0 25,5650.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 20,000.0 20,000.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 5,550.0 5,550.0 -

2900(09|0 | O urPENH33NHL 1,910,596.7 1,910,596.7 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,5659,194.7 1,5659,194.7 -
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,5659,194.7 1,5659,194.7 -
wyn pynLd’
1. Lwfuuwi nguwlwlb niunignid 1,559,194.7 1,559,194.7 -
- Untpuhnhwlbp ng $hOwbuwywl wtnwywl 4511 1,559,194.7 1,559,194.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 351,402.0 351,402.0 -
Uppenipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 351,402.0 351,402.0 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 351,402.0 351,402.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 351,402.0 351,402.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsSMULNH33NFL 40,500.0 28,500.0 12,000.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 1,820.0 1,820.0 -
nphg’

3031110 | 3 | 1 |<wpwqwuhb Yynpgnwé whdhGp 1,820.0 1,820.0 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

1. <wpwqun snLGkgnn wGdwag 1,820.0 1,820.0 -
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 1,820.0 1,820.0 -

304010 | 4 | 0 | LOawnwGhph wonwolbn L quywllbn 3,800.0 3,800.0 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 3,800.0 3,800.0 -
wyjn pyntd’
1. Gpbfuuyh hpwyniGplGlph L pwhbph 3,800.0 3,800.0 -
wupwnuwGnipint G
- <wwnnty Gwwuinwywihb wyp neptn 4269 3,800.0 3,800.0 -

3070|110 | 7 | O |Unghwywlwl huwanny wpuinnbGnipint GGG (wyy 34,880.0 22,880.0 12,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 34,880.0 22,880.0 12,000.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwlb hwduylph pGwlhsGbph 22,400.0 22,400.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbnh ppwlwlbwgnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 6,900.0 6,900.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 7,200.0 7,200.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 7,300.0 7,300.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -
3. <wuwpwluwlwl Yugdwlbpuwnipint GGGphG 480.0 480.0 -
wowlgnipint G
- LdhpwwnynipntbGbp wy pwhniyp shGnwwGnnn 4819 480.0 480.0 -
Juaquwybpwnipyntbutphl
5. Puqiwquidwly, Gppunnwuwpn b wyy 12,000.0 - 12,000.0
fudpbphl wunlwGnn plunwlhplbnhl
wowlgnipint G
- Wy ubpbawobp L uwppwynpniibtbp 5129 12,000.0 - 12,000.0
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Unyntuwy 3

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL

oulutNrh

udyuu Jyunr2uuyuu crauuvh vuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 1,777,814.2 1,512,300.3 265,513.9
2100{01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 385,481.4 374,081.4 11,400.0
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 378,481.4 373,081.4 5,400.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 378,481.4 373,081.4 5,400.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 373,481.4 368,081.4 5,400.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 312,184.6 312,184.6 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 10,226.0 10,226.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 15,500.0 15,500.0 -
- UndntGwy SwrwynipntbbBn 4213 1,000.0 1,000.0 -
- Ywuwh SwrwjnipnLtGbn 4214 5,100.8 5,100.8 -
- Uywhnjwgnwywb dwfuutin 4215 400.0 400.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 100.0 100.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 3,500.0 3,500.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 2,000.0 2,000.0 -
- Spwluwnpuwihb Gnipkn 4264 11,440.0 11,440.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,000.0 2,000.0 -
- Mwpunwnhp y&wnobn 4823 630.0 630.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 5,000.0 - 5,000.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 400.0 - 400.0
2. Ywpswluwl opylyunGlph uenignid L 5,000.0 5,000.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 6,000.0 - 6,000.0
SweuyntpyntGGEph gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 6,000.0 - 6,000.0
qony hGuinwgnuuwyw L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 6,000.0 - 6,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 6,000.0 - 6,000.0

2160|01| 6 | O | 2anhwGnip pGnyph hwapuyhG 1,000.0 1,000.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,000.0 1,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. 2hdnidGbp, huwygunhdnidabp, nuunwpwih 400.0 400.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 400.0 400.0 -
2. Qnyph Gyundwdp hpwyniGplbph 600.0 600.0 -
qpuilguwl, quwhwwndwl b
wnbnbyunyni piul tnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 600.0 600.0 -

220002/ 0 | 0 nuUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 1,500.0 1,500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynLd’
1. 2hGwwwmunGbiph hwyJwedwl, gnpuwlynsh, 1,500.0 1,500.0 -

gnpwhwywph b Jupdwluwlb hwywplbbph
YuqiwlbnuwdwOl wowlgnipin
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 1,500.0 1,500.0 -
2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 100,500.0 88,500.0 12,000.0
wyn pynLd’
2450104 | 5 | 0 | Spwluwynpuwn 83,500.0 71,500.0 12,000.0
nphg’
245104 | 5 | 1 |Swlwwwphwhb npwbuwnpun 81,500.0 71,500.0 10,000.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 56,500.0 56,500.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 56,500.0 56,500.0 -
wwhwwntd
3. Gqnwpwntinh YGpwanpngnid 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlnpngnid 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
8. Uwypninhl6ph L thnnnglbph 5,000.0 5,000.0 -
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
13. ®nnnglbiph, hpwwwpwlbbph L uyghlblph 10,000.0 - 10,000.0
Yuhwynpnig
- Wy dbpbawobn L uwppwynpniibbp 5129 10,000.0 - 10,000.0
245504 | 5 | 5 [lunnnywywwnwihb L wyp tnpwbuwnpun 2,000.0 - 2,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 2,000.0 - 2,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 2,000.0 - 2,000.0
2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 17,000.0 17,000.0 -
nwubphl swuwnluwbnn)
nphg’
2491/04 | 9 | 1 |SOGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 17,000.0 17,000.0 -
swwuinywlnn)
wyn pynLd’
9. <puwnwwy (nidnid wwhwlgnn pGpwghly 17,000.0 17,000.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 17,000.0 17,000.0 -
2600/06|0 | O pLULUNULUSHL ChuuNurnHe3NFL B4 352,613.9 113,000.0 239,613.9

unUNFLUL dunuanke@3NtuLEN

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b YndniGuy 352,613.9 113,000.0 239,613.9
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 352,613.9 113,000.0 239,613.9
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 55,000.0 55,000.0 -
wnwbhplbph Ybpwblnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 55,000.0 55,000.0 -
wwhwwlntd
3. Pwluyhl tnwipwdpllinh L 257,613.9 18,000.0 239,613.9
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 18,000.0 18,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 234,613.9 - 234,613.9
- Wy dbpbawobp L uwppwynpniibbp 5129 5,000.0 - 5,000.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 40,000.0 40,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 40,000.0 40,000.0 -
wwhwwntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 63,621.2 63,621.2 -
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpunh éwrwynipintGaGn 4,000.0 4,000.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipntbGbp 4,000.0 4,000.0 -
wyn pynLd’
1. UynpunuyhG dhonguenidGbph 4,000.0 4,000.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,000.0 4,000.0 -

2820108 | 2 | 0 |Vpwlynipuyhl swruwynipintGabp 59,621.2 59,621.2 -
nphg’

2821108 | 2 | 1 |Qpwnwpwdbn 12,5625.7 12,5625.7 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGEn 12,625.7 12,625.7 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 12,5625.7 12,5625.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnaGenp 21,095.5 21,095.5 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. <wduylpuyhl dpwlynyph L wquin dwdwlgh 21,095.5 21,095.5 -
Yuqdwlbpwni d
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 21,095.5 21,095.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 26,000.0 26,000.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 26,000.0 26,000.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 22,000.0 22,000.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 4,000.0 4,000.0 -

2900(09|0 | O urPENH33NHL 854,797.7 854,797.7 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 663,028.0 663,028.0 -
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 663,028.0 663,028.0 -
wyn pynLd’
1. Lwfuuwi nguwlwlb niunignid 663,028.0 663,028.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 663,028.0 663,028.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 191,769.7 191,769.7 -
Uppenipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 191,769.7 191,769.7 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 191,769.7 191,769.7 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 191,769.7 191,769.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 19,300.0 16,800.0 2,500.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 1,000.0 1,000.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wbdhbp 1,000.0 1,000.0 -
wyn pynLd’
1. <wpwqun snLGkgnn wGdwag 1,000.0 1,000.0 -
hninwpywynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -
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= |al 4 AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

3040(10 0 | LOawnwbhph wanwdabp L quywlylbn 3,800.0 3,800.0 -
nphg’

3041{10 | 4 | 1 |COnwOhph wOnwdbbp L quywyobn 3,800.0 3,800.0 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplGbph L pwhbph 3,800.0 3,800.0 -
wupwnuwbnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,000.0 2,000.0 -
- <wwnnty Gwwuinwywihb wyp ineptn 4269 1,800.0 1,800.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipint GGG (wyy 14,500.0 12,000.0 2,500.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 14,500.0 12,000.0 2,500.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 8,000.0 8,000.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuws
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,000.0 4,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwntd
5. Puqiwquidwly, Gppunnwuwpn b wyy 6,500.0 4,000.0 2,500.0
fudpbphl wunlwGnn plunwlhplbnhl
wowlgnipint G
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwlntd
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,000.0 2,000.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 2,500.0 - 2,500.0
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Unyntuwy 4

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

urupypp JuM2uuuu crRULh vuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 3,284,479.6 2,594,354.3 690,125.3
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 618,524.5 607,679.5 10,845.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 610,024.5 607,179.5 2,845.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 610,024.5 607,179.5 2,845.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 610,024.5 607,179.5 2,845.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 497,205.8 497,205.8 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 17,244.0 17,244.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 35,912.2 35,912.2 -
- UndntGwy SwrwynipntbbBn 4213 1,197.4 1,197.4 -
- Ywuwh SwrwjnipnLtGbn 4214 7,199.4 7,199.4 -
- Uywhnjwgnwywb dwfuutin 4215 520.0 520.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 220.0 220.0 -
- {wiwywngswihb SwrewjnipynLblbn 4232 684.0 684.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 1,000.0 1,000.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 3,000.0 3,000.0 -
- Uwubwghunwywb swrwjnipntbbtn 4241 1,513.0 1,513.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 8,500.0 8,500.0 -

Gnpngntd b wwhwwOnid
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

- Qpwubwyuwh Gniebp LW hwgniuwn 4261 3,467.7 3,467.7 -
- Spwluwnpuwihb Gnipkn 4264 18,818.8 18,818.8 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,875.2 2,875.2 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,100.0 1,100.0 -
- Mwpunwnhp y&wnokn 4823 722.0 722.0 -
- Uj) Swiuubn 4861 4,000.0 4,000.0 -
- Jwpswywb uwppwynpniibbn 5122 2,845.0 - 2,845.0

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 8,000.0 - 8,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 8,000.0 - 8,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 8,000.0 - 8,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 8,000.0 - 8,000.0

2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 500.0 500.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 500.0 500.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdobp, hwygunhdnidlbp, nunwpwGh 200.0 200.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 200.0 200.0 -
2. Qnyph Gyundwdp hpwyniGplbph 300.0 300.0 -
qpuligiwl, qhwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 300.0 300.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 1,500.0 1,500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
1. 2hGwwwpunbbiph hwyJwedwl, gnpuwlynsh, 1,500.0 1,500.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpwdwOa wowlgnipim
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,500.0 1,500.0 -
2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 227,000.0 201,920.0 25,080.0
wyn pynLd’
2450104 | 5 | 0 | Spwluwnpuwn 180,000.0 154,920.0 25,080.0
nphg’
245104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 177,600.0 154,600.0 23,000.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 126,500.0 126,500.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 126,500.0 126,500.0 -
wwhwwntd
3. Gqnwpwntinh YGpwanpngnid 26,000.0 26,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 26,000.0 26,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlbnpngnid 23,000.0 - 23,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 23,000.0 - 23,000.0
7. <puqnul Yppah b Gpbwlw (sh 2,100.0 2,100.0 -
pwnbywpaqnid
- UndntGwy SwrwynipntbbBn 4213 2,100.0 2,100.0 -
245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnpun 2,400.0 320.0 2,080.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 2,400.0 320.0 2,080.0
- Uwulwghunwyw swrwjnipjntbbbn 4241 320.0 320.0 -
- Wy dbpbawobn L uwppwynpniibtbp 5129 2,080.0 - 2,080.0
2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 47,000.0 47,000.0 -
nwubphl swuwnluwbnn)
nphg’
2491/04 | 9 | 1 |SOGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 47,000.0 47,000.0 -
swwuinywlnn)
wyn pynLd’
9. <puwnwwy (nidnid wwhwlgnn pGpwghly 47,000.0 47,000.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 47,000.0 47,000.0 -
2500(05|0 | 0 cNRUYU Uhudu3nNh mucsmuuLNnt@3Ntu 17,661.0 17,661.0 -
wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2520105 | 2 | 0 | Ybnuwgnbph hbrwgnid 11,000.0 11,000.0 -
nphg’

2521105| 2 | 1 |Ybnuwenbph hbrwgnLd 11,000.0 11,000.0 -
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhywghnl guiligbph 11,000.0 11,000.0 -
Yupnignid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 11,000.0 11,000.0 -
wwhwwntd

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 6,661.0 6,661.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy| nwubph 6,661.0 6,661.0 -
swwuinywlnn)
wyn pynLd’
2. Ufunnwhwldwl L dhpwwnwqbpddwl 4,761.0 4,761.0 -
Swipuynipyni 6G6p /nbrunnhquighw
- UndntGwy SwrwynLpntbbEn 4213 4,761.0 4,761.0 -
3. <wuwnwuwlwl gniquinwbGbph 1,900.0 1,900.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntbbBn 4213 1,900.0 1,900.0 -

2600(06| 0 | O pLULUNULUSHL ChuuNruQrnHe3NFL B4 639,567.0 33,386.7 606,180.3

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl hGwpwpnipintl 10,000.0 10,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihb 2hGwpwpneeintb 10,000.0 10,000.0 -
wyn pynLd’
1. hapGwlwd urnyglabph pwannid 10,000.0 10,000.0 -
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 629,567.0 23,386.7 606,180.3
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 629,567.0 23,386.7 606,180.3
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
2. Pwquiuwpbwluwpwl 26Gpbph pbp 84,000.0 10,500.0 73,500.0
wnwbhplbph YGpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 10,500.0 10,500.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L 2hOneyntGOEnph Yuwwhunwy yepwbnpngnid 5113 73,500.0 - 73,500.0
3. Pwluyhl tnwipwdpllinh L 532,567.0 12,886.7 519,680.3
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 12,886.7 12,886.7 -
wwhwwntd
- GLlpbph L 2hOneyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 502,680.3 - 502,680.3
- Wy dbpbawobp L uwppwynpniibbp 5129 17,000.0 - 17,000.0
5. dpwpuyhl wuwnquidplbph Gnpngnid 13,000.0 - 13,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 13,000.0 - 13,000.0

2800(08| 0 | 0 <Uuahus, ucuunt3me b4 urnu 108,225.8 63,325.8 44,900.0
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpunh éwrwynipintGaGn 49,171.8 4,271.8 44,900.0
nphg’

281108 | 1 | 1 [<wOquunh L uwynpuinh SwrwjnipnttGep 49,171.8 4,271.8 44,900.0
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 4,271.8 4,271.8 -
Yuqdwlbpwni d
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 4,271.8 4,271.8 -
2. L<wlquinh gnunhlGbph L gpnuuyghlGbph 44,900.0 - 44,900.0
Ywenignid n wwhwwlnid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 44,900.0 - 44,900.0

2820108 | 2 | 0 |Vpwlynipuyhl SwruwynipintGabp 59,054.0 59,054.0 -
nphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 21,904.0 21,904.0 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 21,904.0 21,904.0 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 21,904.0 21,904.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 37,150.0 37,150.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidalbph 37,160.0 37,150.0 -
hpwlwlbwgnid
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 2,000.0 2,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 31,400.0 31,400.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 3,750.0 3,750.0 -
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£ 2] 4 | Tl e———" ]
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb ZF et Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

2900/ 09 0 UPBNHB33NHL 1,653,539.4 1,653,539.4 -
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwGnip 1,027,817.3 1,027,817.3 -
Yppnignil
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,027,817.3 1,027,817.3 -
wyn pynLd’
1. Lwfuuwi nguwlwl niunignid 1,027,817.3 1,027,817.3 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 1,027,817.3 1,027,817.3 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 625,722.1 625,722.1 -
Yppnignil
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 625,722.1 625,722.1 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 625,722.1 625,722.1 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 625,722.1 625,722.1 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsMULNH33NEL 18,461.9 15,341.9 3,120.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwquinhl Ynpgpwd whdhlp 910.0 910.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 910.0 910.0 -
wyn pynLd’
1. <wpuwquwn snilabgnn widwlg 910.0 910.0 -
hninwiplyuwynpnipywl yuqdwlybpunid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 910.0 910.0 -

3040\ 10| 4 | O | Lawnwbhph wonwilbp b quywlbbn 5,588.9 5,588.9 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 5,588.9 5,588.9 -
wyn pynLd’
1. GptGfuuyh ppuwidniGpllinh L pwhbph 5,5688.9 5,588.9 -
wwpwnwwlbnigint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 600.0 600.0 -
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 4,699.9 4,699.9 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 289.0 289.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7

307010 0 | Unghwywlwl hunnty wpuwnnGnipiniGGE (uyy 11,963.0 8,843.0 3,120.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 11,963.0 8,843.0 3,120.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwlb hwduylph pGwlhsGbph 2,000.0 2,000.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwlbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
5. Pwquwquiduy, Gphurnwuwnn b wy 9,326.0 6,206.0 3,120.0
fudpbphl wurnlwGnn plunwlhplbnhl
wowlgnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 690.0 690.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 4,466.0 4,466.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,050.0 1,050.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 3,120.0 - 3,120.0
10. Unghuwywlwl wowlgnipjuwl Yunphp 637.0 637.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpyuwynpm pjwl Yuqdwybpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtbOEn 4239 637.0 637.0 -
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(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 1,649,737.0 1,366,337.3 283,399.7
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 319,764.9 310,960.9 8,804.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 315,664.9 310,260.9 5,404.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 315,664.9 310,260.9 5,404.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 305,164.9 299,760.9 5,404.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 256,315.8 256,315.8 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 9,518.8 9,518.8 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 8,302.0 8,302.0 -
- UndntGwy SwrwynipntbbBn 4213 1,300.0 1,300.0 -
- Ywuwh SwrwjnipnLtGbn 4214 4,102.0 4,102.0 -
- Uywhnjwgnwywb dwfuutin 4215 450.0 450.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 10.0 10.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 500.0 500.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 378.2 378.2 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 3,400.0 3,400.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 1,112.4 1,112.4 -
- Spwluwnpuwihb Gnipkn 4264 9,095.5 9,095.5 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 732.2 732.2 -
- Mwpunwnhp y&wnobn 4823 544.0 544.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 5,404.0 - 5,404.0
2. Ywpswluwl opylyunGlph uenignid L 10,500.0 10,500.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,500.0 10,500.0 -
wwhwwntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 3,400.0 - 3,400.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 3,400.0 - 3,400.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 3,400.0 - 3,400.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 3,400.0 - 3,400.0

2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 700.0 700.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 700.0 700.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdobp, hwygunhdnidlbp, nunwpwGh 200.0 200.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 200.0 200.0 -
2. Qnyph Gyundwdp hpwyniGplbph 500.0 500.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 500.0 500.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 350.0 350.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 350.0 350.0 -
nphg’

2251|102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 350.0 350.0 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. 2htwwwnuinlbbph hwpdwedw, gnpwlnsh, 350.0 350.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpwdwOa wowlgnipim
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 350.0 350.0 -

2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 118,897.0 92,697.0 26,200.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 93,397.0 67,197.0 26,200.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwbuwnpun 93,397.0 67,197.0 26,200.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 56,697.0 56,697.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 56,697.0 56,697.0 -
wwhwwntd
3. Gqnwpwntinh YGpwanpngnid 10,500.0 10,500.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 10,500.0 10,500.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlbnpngnid 17,000.0 - 17,000.0
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 17,000.0 - 17,000.0
13. ®nnnglbph, hpwwwnpwlGbph L uyghllph 9,200.0 - 9,200.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 9,200.0 - 9,200.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 25,500.0 25,500.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywb hwnpwptnnignLbGbp (wy) nwubphG 25,500.0 25,500.0 -
swwinywlnn)
wyn pynLd’
9. <puwnwwy (nidnid wwhwlgnn pGpwghly 25,500.0 25,500.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 25,500.0 25,500.0 -

2600/06|0 | O pLULUNULUSHL ChuururnHe3NFL G4 320,265.7 77,500.0 242,765.7

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2660|106 | 6 | 0 | Phwlwpwluyhl hGwpwpnipyuwl b ndniGuy 320,265.7 77,500.0 242,765.7
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 320,265.7 77,500.0 242,765.7

SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

wyn pynLd’

84




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. Pwquiwpbwluwpwl 26Gpbph hwpp 37,600.0 37,500.0 -
wnwbhplbph Ybpwblnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 37,500.0 37,500.0 -
wwhwwntd
3. Pwluyhl tnwipwdpllinh L 252,765.7 10,000.0 242,765.7
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhwwbnig
- Untpuhnhwbp ng wewnwywb (ng hwdwbpwihb) ng 4521 10,000.0 10,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
- GLlpbph L 2hOnepyntG0Enph Yuwwhuwy yepwbnpngnid 5113 217,765.7 - 217,765.7
- Wy dbpbawobp L uwppwynpniibbp 5129 25,000.0 - 25,000.0
4. Pwquuwplwlupwl p6Gpkph punblwnqdwl 30,000.0 30,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd

2800(08| 0 | 0 <Uuahus, ucuuntsm@ 64 urnu 40,873.5 40,873.5 -
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpunh éwrwynipintGaGn 5,200.0 5,200.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbn 5,200.0 5,200.0 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 5,200.0 5,200.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 5,200.0 5,200.0 -

2820|108 | 2 | 0 |Vpwlynipuyhl swruwynipinGabp 35,673.5 35,673.5 -
nphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 16,273.5 16,273.5 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 16,273.5 16,273.5 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 16,273.5 16,273.5 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 19,400.0 19,400.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwenidabph 19,400.0 19,400.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 16,520.0 16,520.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,880.0 2,880.0 -

2900(09|0 | O urPENH33NHL 831,211.4 831,211.4 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E- = % = ; pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

w2 3| 53 pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwGnip 654,257.1 654,257.1 -
Yppnignil
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 654,257 .1 654,257 .1 -
wyn pynLd’
1. Lwfuuwi nguwlwl niunignid 654,257.1 654,257.1 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 654,257.1 654,257.1 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 176,954.3 176,954.3 -
Uppenipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 176,954.3 176,954.3 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 176,954.3 176,954.3 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 176,954.3 176,954.3 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nMucsIULNHB3NEL 18,374.5 12,7445 5,630.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwquinhl Ynpgpwd whdhlp 546.0 546.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwd wGdhbp 546.0 546.0 -
wyn pynLd’
1. <wpuwquwn sniGbgnn widwlg 546.0 546.0 -
hninwiplyuwynpnipywl yuqdwlybpunid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 546.0 546.0 -

3040\ 10| 4 | O | Lawnwbhph wonwilbp b quywlbbn 2,517.5 2,207.5 310.0
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 2,517.5 2,207.5 310.0
wyn pynLd’
1. GptGfuuyh ppuwidniGpllinh L pwhbph 2,5617.5 2,207.5 310.0
wwpwnwwlbnigint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 707.5 707.5 -
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 1,500.0 1,500.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 310.0 - 310.0

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipintGGE (wyy 15,311.0 9,991.0 5,320.0
nwubphl swuwnluwbnn)
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 15,311.0 9,991.0 5,320.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 6,470.0 6,470.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuws
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 1,970.0 1,970.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 4,500.0 4,500.0 -
wwhwwntd
5. Puqiwquidwly, Gppunnwuwpn b wyy 8,295.0 2,975.0 5,320.0
fudpbphl wurnlwGnn plunwlhplbnhl
wouwlgnipint G
- Ushgwnuwihb L hwbpwhG ubbnh OjneGn 4267 2,975.0 2,975.0 -
- Wy ubpbOwobp L uwppwynpniibbp 5129 5,320.0 - 5,320.0
10. Unghuwywlwl wowlgnipjuwl Yunphp 546.0 546.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 546.0 546.0 -
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Unyntuwy 6

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

trGeAFLh YUM2UUUL cNRULh Uuuny

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 2,739,373.7 2,209,048.3 530,325.4
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 530,385.8 503,673.8 26,712.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 516,435.8 502,673.8 13,762.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 516,435.8 502,673.8 13,762.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 508,439.0 494,677.0 13,762.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 419,458.0 419,458.0 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 13,069.2 13,069.2 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 15,784.3 15,784.3 -
- UndntGwy SwrwynipntbbBn 4213 1,817.6 1,817.6 -
- Ywuwh SwrwjnipnLtGbn 4214 12,312.9 12,312.9 -
- Uywhnjwgnwywb dwfuutin 4215 400.0 400.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 570.0 570.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 2,268.0 2,268.0 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 3,740.0 3,740.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 3,729.0 3,729.0 -
- Spwluwnpuwihb Gnipkn 4264 12,628.2 12,628.2 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,896.1 1,896.1 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 490.2 490.2 -
- Mwpunwnhp J&wnObp 4823 513.5 513.5 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 13,762.0 - 13,762.0
2. Ywpswluwl opylyunGlph uenignid L 7,996.8 7,996.8 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 7,996.8 7,996.8 -
wwhwwlntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 12,950.0 - 12,950.0
SweuyntpyntGGEph gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 12,950.0 - 12,950.0
qony hGuinwgnuuwyw L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 12,950.0 - 12,950.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 12,950.0 - 12,950.0

2160|01| 6 | O | 2anhwGnip pGnyph hwapuyhG 1,000.0 1,000.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,000.0 1,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
2. Qnuyph GLundwdp hpwyniGplEph 1,000.0 1,000.0 -
qpuiguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -

2200(02|0 | 0 nUCSMULNHB3NFL 500.0 500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 500.0 500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 500.0 500.0 -
wyn pynLd’
1. 2htwwwnunbbph hwpdwedw, gnpwlnsh, 500.0 500.0 -

gnpwhwywph b Jupdwluwlb hwywplbbph
YuqiwlbnuwdwOl wowlgnipin
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 123 |4 5 6 7 8

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 500.0 500.0 -

2400(04|0 | O SULSGUUUUL <UPurGMPNH@3NFLLEN 294,870.0 245,079.5 49,790.5
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 260,870.0 211,079.5 49,790.5
nphg’

245104 | 5 | 1 |Swlwwwphwhb npwbuwnpun 260,870.0 211,079.5 49,790.5
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 194,267.5 194,267.5 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 194,267.5 194,267.5 -
wwhwwntd
3. Gqnwpwntinh YGpwanpngnid 6,000.0 6,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 6,000.0 6,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlnpngnid 10,812.0 10,812.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,812.0 10,812.0 -
wwhwwntd
8. Uwypninhl6ph L thnnnglbph 38,790.5 - 38,790.5
Ybpwlwenignid L hhdGwlnpngnid
- GLlpbph L 2hOneyntGbBnph Yuwwhuwy yepwbnpngnid 5113 38,790.5 - 38,790.5
13. @nnnglbiph, hpwwwpwlbbph L uyghlblph 11,000.0 - 11,000.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 11,000.0 - 11,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 34,000.0 34,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwnpwptnnignLbGbp (wy) nwubphG 34,000.0 34,000.0 -
swwinywlnn)
wyn pynLd’
9. <puwnwwy (nidnid wwhwlgnn pGpwghly 34,000.0 34,000.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 34,000.0 34,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNh mucsauuNnt@3Ntu 6,500.0 6,500.0 -
wyn pynLd’

256005 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 6,500.0 6,500.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy nwubph 6,500.0 6,500.0 -
swwuinywlnn)
wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2. Ufunnwhwldwl L dhpwwnwqbpddwl 4,000.0 4,000.0 -
Swipuynipyni G6G6Gp /nbrunnhquighw
- UndntGwy SwrwynipntblGn 4213 4,000.0 4,000.0 -
3. <wuwnwuwlwl gniquinwbGbph 2,5600.0 2,500.0 -
wwhwwinid L JGpwbnpngntd
- UndntGwy SwrwynipintbbBn 4213 2,500.0 2,500.0 -

2600/06|0 | O pLULUNULUSHL ChuuNurnHe3NFL G4 514,322.9 72,000.0 442,322.9

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynLd’

264006 | 4 | 0 | @nnngltiph (ntuwdnpmd 12,312.0 - 12,312.0
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynpnid 12,312.0 - 12,312.0
wyn pynLd’
1. CGaptiph qinwpdGuunwlwl jntuwynpnid 12,312.0 - 12,312.0
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 12,312.0 - 12,312.0

2660|106 | 6 | 0 | Phwlwpwluyhl hGwpwpnipyuwl b ndniGuy 502,010.9 72,000.0 430,010.9
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 502,010.9 72,000.0 430,010.9
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 32,000.0 32,000.0 -
wnwbhplbph Ybpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 32,000.0 32,000.0 -
wwhwwlntd
2. Pwquiuwpbwluwpwl 26Gpbph pbip 145,937.9 10,000.0 135,937.9
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 10,000.0 10,000.0 -
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 135,937.9 - 135,937.9
3. Pwluyhl tnwipwdpllinh L 285,846.5 10,000.0 275,846.5
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 260,546.5 - 260,546.5
- Wy dbpbawobn L uwppwynpniibtbp 5129 15,300.0 - 15,300.0
4. Puqilwplwluwpwl 26Gpbnh pwnpblwnqdwl 20,000.0 20,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 20,000.0 20,000.0 -

wwhwwlntd
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

5. dpwpuyhl wuwinquidplbph Gnpngnid 18,226.5 - 18,226.5
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 18,226.5 - 18,226.5

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 145,601.7 145,601.7 -
wyn pynLd’

2810/ 08 | 1 | 0 | <wlquuwnh L uynpunh éwrwynipintGaGn 4,905.8 4,905.8 -
nphg’

281108 | 1 | 1 [<wOquunh L uwynpuinh SwrwjnipntbGep 4,905.8 4,905.8 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 4,905.8 4,905.8 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,905.8 4,905.8 -

2820108 | 2 | 0 |Vpwlynipuyhl SwruwynipintGGbp 140,695.9 140,695.9 -
nphg’

2821/08| 2 | 1 |QpwnwpwbObn 46,822.7 46,822.7 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 46,822.7 46,822.7 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 46,822.7 46,822.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnaGenp 60,273.2 60,273.2 -
wyn pynLd’
1. <wduylGpuyhl dpwlynyph L wquiun dwdwlgh 60,273.2 60,273.2 -
Yuqdwlbpwni d
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 60,273.2 60,273.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 30,600.0 30,600.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwenidabph 30,600.0 30,600.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 26,400.0 26,400.0 -
- Ushgwnuwihb L hwbpwhG ubbnh Ojnebn 4267 4,200.0 4,200.0 -

2827|08 | 2 | 7 |<nipwupdwbGEph L dwynipwihb wndtplbph 3,000.0 3,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Jpwlnpngnid L 3,000.0 3,000.0 -
wwhuwwbnig
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 3,000.0 3,000.0 -

wwhwwlntd
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E- = % = ; pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

w2 3| 53 pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

2900/ 09 0 UPBNHB33NHL 1,215,197.8 1,215,197.8 -
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwluwl pGnhwGnip 931,625.9 931,625.9 -
Yppnignil
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 931,625.9 931,625.9 -
wyn pynLd’
1. Lwfuuwi nguwlwl niunignid 931,625.9 931,625.9 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 931,625.9 931,625.9 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 283,571.9 283,571.9 -
Yppnignil
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 283,571.9 283,571.9 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 283,571.9 283,571.9 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 283,571.9 283,571.9 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsMULNH33NEL 31,995.5 20,4955 11,500.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwquinhl Ynpgpwd whdhlp 3,003.0 3,003.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 3,003.0 3,003.0 -
wyn pynLd’
1. <wpwquun snLGGgnn wGdwag 3,003.0 3,003.0 -
hninwiplyuwynpnipywl yuqdwlybpunid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 3,003.0 3,003.0 -

3040\ 10| 4 | O | Lawnwbhph wonwilbp b quywlbbn 7,000.0 7,000.0 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 7,000.0 7,000.0 -
wyn pynLd’
1. GptGfuuyh ppuwidniGpllinh L pwhbph 7,000.0 7,000.0 -
wwpwnwwlbnigint G
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 3,500.0 3,500.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 3,500.0 3,500.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipintGGE (wyy 21,992.5 10,492.5 11,500.0
nwubphl swuwnluwbnn)
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 21,992.5 10,492.5 11,500.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 5,500.0 5,500.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuws
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 3,500.0 3,500.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
5. Puqiwquidwly, Gppunnwuwpn b wyy 15,127.5 3,627.5 11,500.0
fudpbphl wurnlwGnn plunwlhplbnhl
wouwlgnipint G
- Ushgwnuwihb L hwbpwhG ubbnh OjneGn 4267 3,627.5 3,627.5 -
- Wy ubpbOwobp L uwppwynpniibbp 5129 11,500.0 11,500.0
10. Unghuwywiywl wowlygnipw Yuphp 1,365.0 1,365.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 1,365.0 1,365.0 -
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Uryntuwy 7

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

yGuLSNPNL YuNULUUUL cNrRULHL UUUNY

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 3,882,289.8 2,932,399.4 949,890.4
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 766,521.5 746,221.5 20,300.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 750,521.5 740,221.5 10,300.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 750,521.5 740,221.5 10,300.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 750,521.5 740,221.5 10,300.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 619,197.8 619,197.8 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 20,713.0 20,713.0 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 22,377.5 22,377.5 -
- UndntGwy SwrwynipntbbBn 4213 1,893.3 1,893.3 -
- Ywuwh SwrwjnipnLtGbn 4214 17,797.6 17,797.6 -
- Uywhnjwgnwywb dwfuutin 4215 1,100.0 1,100.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 400.0 400.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 1,015.0 1,015.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 561.9 561.9 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 9,004.0 9,004.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 8,939.6 8,939.6 -
- Spwluwnpuwihb Gnipkn 4264 19,835.2 19,835.2 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,777.6 3,777.6 -
- Mwpunwnhp y&wnobn 4823 1,609.0 1,609.0 -
- Uj) Swiuubn 4861 10,000.0 10,000.0 -
- Jwpswywb uwppwynpniibbn 5122 10,000.0 - 10,000.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 300.0 - 300.0
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 10,000.0 - 10,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 10,000.0 - 10,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 10,000.0 - 10,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 10,000.0 - 10,000.0
2160|01| 6 | O | 2anhwGnip pGnyph hwapuyhG 6,000.0 6,000.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 6,000.0 6,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdobp, hwygunhdnidlbp, nunwpwGh 4,000.0 4,000.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 4,000.0 4,000.0 -
2. Qnuyph Ghundwdp hpwyniGplbph 2,000.0 2,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 2,000.0 2,000.0 -
2200(02|0 | 0 nuUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynLd’
2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 2,000.0 2,000.0 -
nphg’
2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2hGwwwmunGbiph hwyJwedwl, gnpuwlynsh, 2,000.0 2,000.0 -

gnpwhwywph b Jupdwluwlb hwywplbbph
YuqiwlbnuwdwOl wowlgnipin
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 2,000.0 2,000.0 -

2400(04|0 | O SLSGUUUUL <UrurtMPNHa3NtuLGN 397,600.0 202,500.0 195,100.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 342,100.0 147,000.0 195,100.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 tnpwbuwnpun 322,100.0 147,000.0 175,100.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 120,000.0 120,000.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 120,000.0 120,000.0 -
wwhwwntd
3. Gqnwpwntinh YGpwanpngnid 17,000.0 17,000.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 17,000.0 17,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlnpngnid 40,200.0 - 40,200.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 40,200.0 - 40,200.0
8. Uuwypninplbiph L thnnnglbph 112,000.0 10,000.0 102,000.0
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 102,000.0 - 102,000.0
11. BapwhwppwlGbph Yuenignid 10,000.0 - 10,000.0
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 10,000.0 - 10,000.0
13. @nnnglbiph, hpwwwpwlbbph L uyghlblph 22,900.0 - 22,900.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibtbp 5129 22,900.0 - 22,900.0

245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 20,000.0 - 20,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 20,000.0 - 20,000.0
- Wy dbpbawobn L uwppwynpniibtbp 5129 20,000.0 - 20,000.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 55,500.0 55,500.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SOGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 55,500.0 55,500.0 -
swwuinywlnn)
wyn pynLd’
9. <puwnwwy (nidnid wwhwlgnn pGpwghly 55,500.0 55,500.0 -

wpfuwnnuwliplbinh ppwlwGwgnid
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

- Uj) Swiuubn 4861 55,500.0 55,500.0 -

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuuNnt@3Ntu 8,920.0 8,920.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 8,920.0 8,920.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy nwubph 8,920.0 8,920.0 -
swwuinywlnn)
wyn pynLd’
2. Ufunnwhwldwa L dhpwwnwqbpddwl 8,000.0 8,000.0 -
Swipuynipyni 6G6Gp /nbrunnhquighw
- UndntGwy SwrwynipntblGn 4213 8,000.0 8,000.0 -
3. <wuwnpwluwlwl gniquinwGlbph 920.0 920.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntbbBn 4213 920.0 920.0 -

2600(06| 0 | O pLULUNULUSHL ChuuNurnHe3NFL G4 993,040.4 279,000.0 714,040.4

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl hGwpwpnipintl 25,000.0 25,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihb 2hGwpwpneeintb 25,000.0 25,000.0 -
wyn pynLd’
1. hapGwlwd Yuernyglabph pwannid 25,000.0 25,000.0 -
- Uj) Swiuubn 4861 25,000.0 25,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 968,040.4 254,000.0 714,040.4
SwewynipyntGGE&n (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipywb L Yndntbug 968,040.4 254,000.0 714,040.4
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 23,000.0 23,000.0 -
wnwbhplbph Ybpwblnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 23,000.0 23,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl 26Gpbph pbip 197,620.0 - 197,620.0
wnwbhplbph YGpwblnpngnid
- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid 5113 197,620.0 - 197,620.0
3. Pwluyhl tnwipwdpllinh L 502,420.4 6,000.0 496,420.4

fuwnuwhpwwwpwlGbnh hhdGwanpngnid nt
wwhuwwbnig
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 6,000.0 6,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 484,420.4 - 484,420.4
- Wy dbpbawobp L uwppwynpniibbp 5129 12,000.0 - 12,000.0
4. Puqidwplwluwpwl 26Gpbnh pwpblwnqdwl 225,000.0 225,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 215,000.0 215,000.0 -
wwhwwntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
5. dpwpuyhl wuwnyquidplbph Gnpngnid 20,000.0 - 20,000.0
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 20,000.0 - 20,000.0

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 119,954.1 109,854.1 10,100.0
wyn pynLd’

2810/ 08 | 1 | 0 | <wlquuwnh L uynpunh éwrwynipintGabn 19,750.0 9,650.0 10,100.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGep 19,750.0 9,650.0 10,100.0
wyn pynLd’
1. UynpunuyhG dhonguenidGbph 6,600.0 6,600.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 6,600.0 6,600.0 -
2. <wlquinh gninhlGbph L gpnuuyghlGbph 13,150.0 3,050.0 10,100.0
Ywenignid nt wwhwwlnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 3,050.0 3,050.0 -
wwhwwlntd
- Uy vbpbOwlEn L uwppwynpniilbp 5129 10,100.0 - 10,100.0

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipinGabp 100,204.1 100,204.1 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 15,539.6 15,539.6 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 15,639.6 15,639.6 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 15,539.6 15,539.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 [Uwyniph inbbn, wynidpdtn, YebwnpnbaGenp 31,654.5 31,654.5 -
wyn pynLd’
1. <wduylGpuyhl dpwlynyph L wquin dwdwlgh 31,654.5 31,654.5 -

Yuqdwlbpwni d
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Untpuhnhwltp ng $hOwbuwywl wtnwyw 4511 31,654.5 31,654.5 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieyniGbbn 38,010.0 38,010.0 -
wyn pynLd’
1. Vpwiynipuyhl dhongwenidabph 38,010.0 38,010.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 32,760.0 32,760.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjnueGn 4267 5,250.0 5,250.0 -

2827|08 | 2 | 7 |<nipwupdwbGEph L dwynipwihb wndtplbph 15,000.0 15,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Jpwlnpngnid L 15,000.0 15,000.0 -
wwhwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwntd

2900(09|0 | O urPENH33NHL 1,565,114.3 1,565,114.3 -
wyn pynLd’

2910|109 | 1 | 0 | bwfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,301,174.6 1,301,174.6 -
Yppnipnt G
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,301,174.6 1,301,174.6 -
wyn pynLd’
1. Lwfuuwi nguwlwlb niunignid 1,301,174.6 1,301,174.6 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 1,301,174.6 1,301,174.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 263,939.7 263,939.7 -
Uppenipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 263,939.7 263,939.7 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 263,939.7 263,939.7 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 263,939.7 263,939.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucsSMULNH33NFL 29,139.5 18,789.5 10,350.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 2,730.0 2,730.0 -

nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

3031| 10 1 | <wpwqwunhb Ynpgpwé wbéhbp 2,730.0 2,730.0 -
wyn pynLd’
1. <wpwqun snLGkgnn wGdwag 2,730.0 2,730.0 -
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 2,730.0 2,730.0 -

3070|110 | 7 | O |Unghwywlwl huwanny wpuinnbGnipint GGG (wyy 26,409.5 16,059.5 10,350.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipyntbbbn (wy 26,409.5 16,059.5 10,350.0
nuwubpht swywunywbnn)
wyn pynLd’
2. Gpliwl hwduylph pGwlhsGbph 14,694.5 14,694.5 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,694.5 2,694.5 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 9,000.0 9,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,000.0 3,000.0 -
5. Puqiwquidwly, Gppunnwuwpn b wyy 10,350.0 - 10,350.0
fudpbphl wunlwGnn plunwlhplbnhl
wowlgnipint G
- Wy dbpbawobp L uwppwynpniibbp 5129 10,350.0 - 10,350.0
10. Unghuwywiywl wowlygnipw Yuphp 1,365.0 1,365.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,365.0 1,365.0 -
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Unyntuwy 8

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

UuLuehuU-UuGAUUShU 4uMuUuuUL crauuh yuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
LLNUUBLE SUUBP 4,065,050.6 3,489,788.4 575,262.2
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 572,815.9 552,815.9 20,000.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 561,815.9 551,815.9 10,000.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 561,815.9 551,815.9 10,000.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 558,215.9 548,215.9 10,000.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 468,520.0 468,520.0 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 14,015.6 14,015.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 16,163.6 16,163.6 -
- UndntGwy SwrwynipntbbBn 4213 530.2 530.2 -
- Ywuwh SwrwjnipnLtGbn 4214 12,115.2 12,115.2 -
- Uywhnjwgnwywb dwfuutin 4215 561.0 561.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 500.0 500.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 814.0 814.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 4,135.0 4,135.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 5,284.6 5,284.6 -
- Spwluwnpuwihb Gnipkn 4264 16,306.2 16,306.2 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 3,490.5 3,490.5 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- <wwnnty Gwwuinwywihb wyp neptn 4269 2,000.0 2,000.0 -
- Mwpunwnhp y&wnobn 4823 780.0 780.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 10,000.0 - 10,000.0
2. Ywpswluwl opylyunGlph uenignid L 3,600.0 3,600.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 3,600.0 3,600.0 -
wwhwwntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 10,000.0 - 10,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 10,000.0 - 10,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 10,000.0 - 10,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 10,000.0 - 10,000.0

2160|01| 6 | O | 2anhwGnip pGnyph hwapuyhG 1,000.0 1,000.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,000.0 1,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
2. Qnuyph GLundwdp hpwyniGplEph 1,000.0 1,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -

2400(04|0 | O SLSEUULUL <UrurtMPN@3NFLLEN 376,042.6 239,661.3 136,381.3
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 350,542.6 214,161.3 136,381.3
nphg’

245104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 345,542.6 214,161.3 131,381.3
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 135,000.0 135,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 135,000.0 135,000.0 -

wwhwwlntd
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
3. Gqnwpwntinh YGpwanpngnid 43,000.0 43,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 43,000.0 43,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlnpngnid 14,127.3 14,127.3 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 14,127.3 14,127.3 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 143,415.3 22,034.0 121,381.3
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 22,034.0 22,034.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGOEnph Yuwwhuwy yepwbnpngnid 5113 121,381.3 - 121,381.3
13. ®nnnglbph, hpwwwpwlybGbph L uyghlph 10,000.0 - 10,000.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 10,000.0 - 10,000.0
245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 5,000.0 - 5,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 5,000.0 - 5,000.0
- Wy dbpbawobn L uwppwynpniibtbp 5129 5,000.0 - 5,000.0
2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 25,500.0 25,500.0 -
nwubphl swuwnluwbnn)
nphg’
2491/04 | 9 | 1 |SGnBuwywl hwnpwpbnnignLbGbp (wy) nwubphG 25,500.0 25,500.0 -
swwuinywlnn)
wyn pynLd’
9. <puwnwwy (nidnid wwhwlgnn pGpwghly 25,500.0 25,500.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 25,500.0 25,500.0 -
2500(05|0 | 0 cNRUYU Uhudu3nNh mucsmuuNnt@3Ntu 3,145.6 3,145.6 -
wyn pynLd’
2510/05| 1 | 0 |Unpwhwlnid 645.6 645.6 -
nphg’
251105 1 | 1 |UnpwhwGntd 645.6 645.6 -
wyn pynLd’
1. Unpwhwlnipntb b uwGhunwpwlywl 645.6 645.6 -
duwpnnid
- W Gwwuinbbp pinuobihg 4729 645.6 645.6 -
2560|105 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 2,500.0 2,500.0 -
nwubphl swuwnluwbnn)
nphg’
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= |al 4 AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2561| 05 1 |Cpowyw thowdwnh wwunwwbnipintb (wy nwubph 2,500.0 2,500.0 -
swwinywlnn)
wyn pynLd’
3. <wuwnwuwlwl gniquinwbGbph 2,5600.0 2,500.0 -
wwhwwinid L JGpwbnpngntd
- UndntGwy SwrwynipintbbBn 4213 2,500.0 2,500.0 -

2600/06|0 | O pLULUNULUSHL ChuuNurnHe3NFL G4 519,980.9 108,000.0 411,980.9

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynLd’

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 519,980.9 108,000.0 411,980.9
SwewynipyntGGE&n (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 519,980.9 108,000.0 411,980.9
SwrwjntpntbO6n (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 34,000.0 34,000.0 -
wnwbhplbph Ybpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 34,000.0 34,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl 26Gpbph pbip 8,000.0 8,000.0 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 8,000.0 8,000.0 -
3. Pwluyhl tnwpwdpllinh L 431,480.9 30,000.0 401,480.9
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwlntd
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 381,480.9 - 381,480.9
- Wy dbpbawobp L uwppwynpniibbp 5129 20,000.0 - 20,000.0
4. Puqidwplwluwpwl 26Gpbnh pwpblwnqdwl 36,000.0 36,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 26,000.0 26,000.0 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
5. dpwpuyhl wuwinyquidplbph Gnpngnid 10,500.0 - 10,500.0
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 10,500.0 - 10,500.0

2800(08| 0 | 0 <Uuahus, ucuuntse b4 urnu 107,587.0 107,587.0 -
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpunh 6wrwynipintGabn 9,550.0 9,550.0 -
nphg’
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

281108 | 1 | 1 |<wOquunh L uynpuinh SwrwjnipnLtGep 9,550.0 9,550.0
wjn pyntd’
1. Uynpunuyhl dhongwenidGbph 9,550.0 9,5650.0
Yuqdwlbpwni d
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 9,550.0 9,550.0

2820108 | 2 | 0 |Vpwlynipuyhl SwruwynipintGGbp 98,037.0 98,037.0
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 33,457.8 33,457.8
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 33,457.8 33,457.8
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 33,457.8 33,457.8
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnbGep 18,5622.2 18,5622.2
wyn pynLd’
1. <wduylGpuyhl dpwlynyph L wquin dwdwlgh 18,622.2 18,622.2
Yuqdwlbpwni d
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 18,5622.2 18,5622.2
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 44,057.0 44,057.0
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 44,057.0 44,057.0
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 36,800.0 36,800.0
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 7,257.0 7,257.0

2827|08 | 2 | 7 |<nipwupdwbGEph L dwynipwihb wndtplbph 2,000.0 2,000.0
ybpwywaglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Jpwlnpngnid L 2,000.0 2,000.0
wwhuwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 2,000.0 2,000.0
wwhwwntd

2900(09|0 | O uPENH33NHL 2,454,968.6 2,454,968.6
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 2,107,048.6 2,107,048.6
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 2,107,048.6 2,107,048.6

wyn pynLd’
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1. Lwfuuwi nguwlwl niunignid 2,107,048.6 2,107,048.6 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 2,107,048.6 2,107,048.6 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn dwluwpnuwlGGph snwuwluwpgynn 347,920.0 347,920.0 -
Yppnipnt G
nphg’

295109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 347,920.0 347,920.0 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 347,920.0 347,920.0 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 347,920.0 347,920.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 30,510.0 23,610.0 6,900.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhlb Ynpgnwdé whdhap 1,000.0 1,000.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 1,000.0 1,000.0 -
wyn pynLd’
1. <wpwquun snLGGgnn wGdwag 1,000.0 1,000.0 -
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 1,000.0 1,000.0 -

304010 | 4 | 0 | LOawnwGhph wonwolbn L quywllbn 6,110.0 6,110.0 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 6,110.0 6,110.0 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplabph L pwhbph 6,110.0 6,110.0 -
wupwnuwGnipint G
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 1,310.0 1,310.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 4,800.0 4,800.0 -

3070|110 | 7 | O |Unghwywlwl huwanny wpuinnbGnipint GGG (wyy 23,400.0 16,500.0 6,900.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 23,400.0 16,500.0 6,900.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpliwl hwduylph pGwlhsGbph 13,500.0 13,500.0 -

Ybtuwdwluwpnwyh pwpbywddwll ninnywd
OwuwinuwlyuyhG 6pwqpbnh ppwlwlbwgnid
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= £ a3 3 pwdhaltnh, fudptph L nwubph, hOswtu Gub 3
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el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 5,200.0 5,200.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 6,300.0 6,300.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,000.0 2,000.0 -
5. Pwquwquiduwy, Gphunnwuwnn b wy 8,900.0 2,000.0 6,900.0
fudpbphl wunlwGnn plunwlhplbnhl
wowlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,000.0 2,000.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 6,900.0 - 6,900.0
10. Unghuwywiywl wowlygnipw Yuphp 1,000.0 1,000.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,000.0 1,000.0 -
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za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 4,143,375.8 3,540,165.8 603,210.0
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 571,316.7 555,836.7 15,480.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 558,316.7 552,836.7 5,480.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 558,316.7 552,836.7 5,480.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 555,316.7 549,836.7 5,480.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 441,602.2 441,602.2 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 14,692.6 14,692.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 33,222.8 33,222.8 -
- UndntGwy SwrwynipntbbBn 4213 1,949.3 1,949.3 -
- Ywuwh SwrwjnipnLtGbn 4214 13,098.4 13,098.4 -
- Uywhnjwgnwywb dwfuutin 4215 800.0 800.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- {wiwywngswihb SwrewjnipynLblbn 4232 1,020.0 1,020.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 300.0 300.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 5,080.0 5,080.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 4,109.6 4,109.6 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 6,100.0 6,100.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 2,739.0 2,739.0 -
- Spwluwnpuwihb Gnipkn 4264 15,244.0 15,244.0 -
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8

- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,634.8 3,634.8 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -
- Mwpunwnhp y&wnobn 4823 1,244.0 1,244.0 -
- Uj) Swiuubn 4861 3,000.0 3,000.0 -
- Jwpswywb uwppwynpniibbn 5122 5,480.0 - 5,480.0
2. Ywpswluwl opylyunGlph uenignid L 3,000.0 3,000.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwlntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 10,000.0 - 10,000.0
SweuyntpyntGGEph gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 10,000.0 - 10,000.0
qony hGuinwgnuuwyw L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 10,000.0 - 10,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 10,000.0 - 10,000.0

2160|01| 6 | O | 2anhwGnip pGnyph hwapuyhG 3,000.0 3,000.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 3,000.0 3,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdGbp, hwygunhdnidlbp, nunwpwGh 1,000.0 1,000.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -
2. Qnuyph Ghundwdp hpwyniGplbph 2,000.0 2,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 2,000.0 2,000.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 1,500.0 1,500.0 -
nphg’

225102 5 | 1 [Mwaunwwantpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynLd’

110




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. 2hGwwwpunbbiph hwyJwedwl, gnpuwlynsh, 1,500.0 1,500.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpwdwOa wowlgnipim
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSGBUULUL <UrurtMPN@3NFLLEN 275,900.0 185,500.0 90,400.0
wyn pynLd’

2420|104 | 2 | O | Yninuuwnbwnbunipnt G, whunweuyhl 54,400.0 - 54,400.0
wnbwnbunipinil, d4Gnpunipinl L
npunpnnipinLG
nphg’

2424|104 | 2 | 4 |NrngnLd 54,400.0 - 54,400.0
wyn pynLd’
1. Nenquwl gulgh Yuenignid L 54,400.0 - 54,400.0
YGpwlnpngniJ
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 54,400.0 - 54,400.0

2450104 | 5 | 0 | Spwluwynpuwn 183,000.0 147,000.0 36,000.0
nphg’

245104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 168,000.0 147,000.0 21,000.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 120,000.0 120,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 120,000.0 120,000.0 -
wwhwwntd
3. Gqnwpwnptinh YGpwanpngnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlbnpngnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 28,000.0 7,000.0 21,000.0
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 7,000.0 7,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 21,000.0 - 21,000.0

245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 15,000.0 - 15,000.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 15,000.0 - 15,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0

111




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 38,500.0 38,500.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 38,500.0 38,500.0 -
swwuinywlnn)
wyn pynLd’
9. <punwwy (nidnid wwhwlgnn pGpuwghly 38,500.0 38,500.0 -
upfuwnnulplbinh Apwlubwgn:J
- Uj) Swiuubn 4861 38,500.0 38,500.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNrh mucsmuuNnt@3Ntu 1,500.0 1,500.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 1,500.0 1,500.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipintb (wy nwubph 1,500.0 1,500.0 -
swwinywlnn)
wyn pynLd’
3. <wuwnwuwlwl gniquinwbGbph 1,5600.0 1,500.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntbbBn 4213 1,500.0 1,500.0 -

2600(06| 0 | O pLULUNULUSHL ChuuNruQrnHe3NFL B4 626,765.0 192,505.0 434,260.0

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2610|106 | 1 | 0 | Phwlwpwluyhl hGwpwpnipintl 10,000.0 10,000.0 -
nphg’

261106 | 1 | 1 |ROwywpwOwihb 2hGwpwpneeintb 10,000.0 10,000.0 -
wyn pynLd’
1. hapGwlwd urnyglabph pwannid 10,000.0 10,000.0 -
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 616,765.0 182,505.0 434,260.0
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 616,765.0 182,505.0 434,260.0
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 60,000.0 60,000.0 -
wnwbhplbph YGpwblnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 60,000.0 60,000.0 -

wwhwwlntd
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2. Pwquiuwpbwluwpwl 26Gpbph pbip 20,000.0 20,000.0 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 20,000.0 20,000.0 -
3. Pwluyhl tnwpwdépllinh L 475,965.0 50,505.0 425,460.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 50,505.0 50,505.0 -
wwhwwlntd
- Gtlpbnh L 2hOneyntGbEnph Yurenigned 5112 172,905.0 - 172,905.0
- GLlpbnh L 2hOneeyntG0bnph Yuwwhuwy yepwbnpngnid 5113 242,555.0 - 242,555.0
- Wy dbpbawobp L uwppwynpniibtbp 5129 10,000.0 - 10,000.0
4. Pwqiwplwluwpwl ;6Gpbph pupbywnpgdwl 52,000.0 52,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 52,000.0 52,000.0 -
wwhwwntd
5. dpwpuyhl wuwinyquidplbph Gnpngnid 8,800.0 - 8,800.0
- GLlpbnh L 2hOneyntG0Bnph Yuwwhunwy yepwbnpngnid 5113 8,800.0 - 8,800.0

2800(08| 0 | 0 <Uuahus, ucuuntse b4 urnu 233,652.4 177,5682.4 56,070.0
wyn pynLd’

2810/ 08 | 1 | 0 | <wlquuwnh L uynpunh éwrwynipintGabn 69,820.0 13,750.0 56,070.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwnipntbGbp 69,820.0 13,750.0 56,070.0
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 8,750.0 8,750.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 8,750.0 8,750.0 -
2. <wlquinh gninhlGbph L gpnuuyghlGbph 61,070.0 5,000.0 56,070.0
Ywenignid n wwhwwlnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 56,070.0 - 56,070.0

2820108 | 2 | 0 |Vpwlynipuyhl SwruwynipintGabp 163,832.4 163,832.4 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 56,865.3 56,865.3 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGEn 56,865.3 56,865.3 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 56,865.3 56,865.3 -

(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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2823| 08 3 |Uwynyph inlbtkn, wynidpdtn, YebunpnbGep 62,367.1 62,367.1 -
wyn pynLd’
1. <wduylpuyhl dpwlynyph L wquin dwdwlgh 62,367.1 62,367.1 -
Juquwlbpynid
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 62,367.1 62,367.1 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 44,600.0 44,600.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 44,600.0 44,600.0 -
hpwluwlwgnid
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 34,000.0 34,000.0 -
- Ushgwnuwihb L hwbpwhG ubbnh OjneGn 4267 9,600.0 9,600.0 -

2900(09|0 | O UPBNHB33NHL 2,402,498.5 2,402,498.5 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,870,467.0 1,870,467.0 -
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,870,467.0 1,870,467.0 -
wyn pynLd’
1. Lwfuuwi nguwlwlb niunignid 1,870,467.0 1,870,467.0 -
- Untpuhnhwlbp ng $hOwbuwywl wtnwywl 4511 1,870,467.0 1,870,467.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 532,031.5 532,031.5 -
Uppenipyntl
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywl nwuunhwpwynipntl 532,031.5 532,031.5 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 532,031.5 532,031.5 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 532,031.5 532,031.5 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

3000(10| 0 | O unshuLuyuLu nMucsMULNHB3NEL 30,243.2 23,2432 7,000.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwquinhl Ynpgpwd whdhlp 1,200.0 1,200.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd whdhbp 1,200.0 1,200.0 -

wyn pynLd’
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1 2 |3 |4 5 6 7 8

1. <wpwqun snLGkgnn wGdwag 1,200.0 1,200.0 -
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 1,200.0 1,200.0 -

304010 | 4 | 0 | LOawnwGhph wonwolbn L quywllbn 7,143.2 7,143.2 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 7,143.2 7,143.2 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplGlph L pwhbph 7,143.2 7,143.2 -
wupwnuwGnipint G
- Qpwubwyuwh Gniebp LW hwgniuwn 4261 1,500.0 1,500.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 5,643.2 5,643.2 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipini GGG (uyy 21,900.0 14,900.0 7,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 21,900.0 14,900.0 7,000.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwlb hwduylph pGwlhsGbph 10,200.0 10,200.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbnh ppwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 4,200.0 4,200.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 4,380.0 4,380.0 -
wwhwwntd
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,620.0 1,620.0 -
5. Pwquwquiduy, Gphunnwuwnn b wy 11,200.0 4,200.0 7,000.0
fudpbphl wurnlwGnn plunwlhplbnhl
wowlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,500.0 2,500.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,700.0 1,700.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 7,000.0 - 7,000.0
10. UnghuywiquiG wowlygni pjwl Yuiphp 500.0 500.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpywynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 500.0 500.0 -
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(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
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el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 782,141.3 648,211.5 133,929.8
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 243,050.5 239,550.5 3,500.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 240,200.5 239,200.5 1,000.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 240,200.5 239,200.5 1,000.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 240,200.5 239,200.5 1,000.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 209,154.4 209,154.4 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 6,773.6 6,773.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 4,935.8 4,935.8 -
- UndntGwy SwrwynipntbbBn 4213 138.1 138.1 -
- Ywuwh SwrwjnipnLtGbn 4214 2,531.8 2,531.8 -
- Uywhnjwgnwywb dwfuutin 4215 300.0 300.0 -
- Lkipphb gnpéninnLabbn 4221 100.0 100.0 -
- Ywnswywl SwewjnipyntGbbn 4231 150.0 150.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,200.0 2,200.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 127.0 127.0 -
- UbpbOwObph L uwppwynpnidbbph pbpwghy 4252 2,750.0 2,750.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 925.0 925.0 -
- Spwluwnpuwihb Gnipkn 4264 5,090.0 5,090.0 -

116




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
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- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 668.8 668.8 -
- Mwpunwnhp y&wnobn 4823 356.0 356.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 1,000.0 - 1,000.0
2150|101 | 5 | 0 | LGnhwlnip plGnyph hwipughl 2,500.0 - 2,500.0
SweuyntpyntGGEph gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 2,500.0 - 2,500.0
qony hGuinwgnuuwyw L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wpfuwunwlplbn 2,5600.0 - 2,500.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 2,500.0 - 2,500.0
2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipughl 350.0 350.0 -
SweuynLpynL GGG (wy nwubphl swwnluwlnn)
nphg’
2161|/01| 6 | 1 |CGnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 350.0 350.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdobp, hwygunhdnidlbp, nunwpwGh 300.0 300.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 300.0 300.0 -
2. Qnyph Gyundwdp hpwyniGplbph 50.0 50.0 -
qpuiguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 50.0 50.0 -
2400(04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 110,950.0 66,000.0 44,950.0
wyn pynLd’
2450104 | 5 | 0 | Spwluwynpuwn 97,950.0 53,000.0 44,950.0
nphg’
2451104 | 5 | 1 |Bwlwwwnhwh0 uvnpwbuwnpun 97,950.0 53,000.0 44,950.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 35,000.0 35,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 35,000.0 35,000.0 -

wwhwwlntd
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3. Gqnwpwntinh YGpwanpngnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlnpngnid 40,200.0 - 40,200.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 40,200.0 - 40,200.0
8. Uuwypninplbiph L thnnnglbph 8,000.0 8,000.0 -
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 8,000.0 8,000.0 -
wwhwwntd
13. ®nnnglbph, hpwwwnpwlGbph L uyghllph 4,750.0 - 4,750.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 4,750.0 - 4,750.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 13,000.0 13,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwnpwpbnnigntbGbp (wy) nwubphG 13,000.0 13,000.0 -
swwinywlnn)
wyn pynLd’
9. <punwwy (nidnid wwhwlignn pGpuwghly 13,000.0 13,000.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 13,000.0 13,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNh mucsauuNnt@3Ntu 1,171.0 1,171.0 -
wyn pynLd’

256005 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 1,171.0 1,171.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy| nwubph 1,171.0 1,171.0 -
swwinywlnn)
wyn pynLd’
2. Ufunnwhwldwl L dhpwwnwqbpddwl 1,171.0 1,171.0 -
Swipuynipyni 6G6Gp /nbrunnhquighw
- UndntGwy SwrwynLpntbbEn 4213 1,171.0 1,171.0 -

2600/06|0 | O pLULUNULUSHL ChuururnHe3NFL G4 85,229.8 5,000.0 80,229.8

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2660|106 | 6 | 0 | Phwlwpwluyhl hGwpwpnipyuwl b ndniGuy 85,229.8 5,000.0 80,229.8
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 85,229.8 5,000.0 80,229.8

SwrwjnipntbObn (wy| nwubphl sywwnywbnn)

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

3. Pwluyhl wrnwpwéplbinh L 85,229.8 5,000.0 80,229.8
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 77,729.8 - 77,729.8
- Wy dbpbawobp L uwppwynpniibbp 5129 2,500.0 - 2,500.0

2800(08| 0 | 0 <Uuahus, ucuunt3me by urnu 17,775.0 17,775.0 -
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpunh éwrwynipintGaGn 5,000.0 5,000.0 -
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGen 5,000.0 5,000.0 -
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 5,000.0 5,000.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 5,000.0 5,000.0 -

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipinGabp 12,775.0 12,775.0 -
nphg’

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 12,775.0 12,775.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 12,775.0 12,775.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 11,800.0 11,800.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 975.0 975.0 -

2900(09|0 | O uPENH33NHL 310,205.0 310,205.0 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 204,388.7 204,388.7 -
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 204,388.7 204,388.7 -
wyn pynLd’
1. Lwfuuwi nguwlwl niunignid 204,388.7 204,388.7 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 204,388.7 204,388.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 105,816.3 105,816.3 -
Uppenipyntl
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2951| 09 1 [Upunwnwpngwywb nwuunhwpwynipgntl 105,816.3 105,816.3 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipini 105,816.3 105,816.3 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 105,816.3 105,816.3 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 13,760.0 8,510.0 5,250.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 600.0 600.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Yynpgnwd whdhbp 600.0 600.0 -
wyn pynLd’
1. <wpuwquwn sniGbgnn widwlg 600.0 600.0 -
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 600.0 600.0 -

3070|110 | 7 | O |Unghwywlwl huwanny wpuinnbGnipint GGG (wyy 13,160.0 7,910.0 5,250.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 13,160.0 7,910.0 5,250.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 7,000.0 7,000.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbnh ppwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 4,000.0 4,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,000.0 1,000.0 -
5. Puqiwquidwly, Gppunnwuwpn b wyy 5,250.0 - 5,250.0
fudpbphl wunlwGnn plunwlhplbnhl
wowlgnipint G
- Wy ubpbawobp L uwppwynpniibtbp 5129 5,250.0 - 5,250.0
10. Unghuwywlwl wowlgnipjuwl Yunphp 910.0 910.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpywynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 910.0 910.0 -
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LNFAUPUTEL YuMUvUL crauuh yuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
1 12 |3 |4 5 6 7 8 9
LLNUUBLE SUUBP 676,749.0 550,033.0 126,716.0
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 191,195.1 186,695.1 4,500.0
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 187,045.1 186,545.1 500.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 187,045.1 186,545.1 500.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 187,045.1 186,545.1 500.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 162,656.0 162,656.0 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 4,678.8 4,678.8 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 3,244.6 3,244.6 -
- UndntGwy SwrwynipntbbBn 4213 703.0 703.0 -
- Ywuwh SwrwjnipnLtGbn 4214 2,598.6 2,598.6 -
- Uywhnjwgnwywb dwfuutin 4215 450.0 450.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 60.0 60.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipjntbbtn 4241 300.0 300.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 2,200.0 2,200.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 1,000.0 1,000.0 -
- Spwluwnpuwihb Gnipkn 4264 4,630.1 4,630.1 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 500.0 500.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
- Mwpunwnhp y&wnobn 4823 524.0 524.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 500.0 - 500.0
2150|101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 4,000.0 - 4,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’
215101 | 5 | 1 |CGnhwGnip pGnyph hwOpwihb dwrwjnintGUEnh 4,000.0 - 4,000.0
qony hGuinwgnuuwywt L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 4,000.0 - 4,000.0
- LwjuwgéwhbGunwgnunwywb dwiuutin 5134 4,000.0 - 4,000.0
2160|101 | 6 | 0 | 2Gnhwlnip plGnyph hwipughl 160.0 160.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’
2161|/01| 6 | 1 |CGnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 150.0 150.0 -
nwubphb swwunywbnn)
wyn pynLd’
1. DhonLdobp, hwygunhdnidlbp, nunwpwGh 100.0 100.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 100.0 100.0 -
2. Qnyph Gyundwdp hpwyniGplbph 50.0 50.0 -
qpuiguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 50.0 50.0 -
220002/ 0 | 0 nuUCSMULNHB3NFL 500.0 500.0 -
wyn pynLd’
2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 500.0 500.0 -
nphg’
2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 500.0 500.0 -
wyn pynLd’
1. 2htwwwnunbbph hwpdwedw, gnpwlnsh, 500.0 500.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpwdwOa wowlgnipim
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 500.0 500.0 -
2400/04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 41,600.0 40,000.0 1,600.0

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2450104 | 5 | 0 | Spwluwynpuwn 28,600.0 27,000.0 1,600.0
nphg’

2451104 | 5 | 1 |Bwlwwwnhwh0 uvnpwbuwnpun 28,600.0 27,000.0 1,600.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jtpwlnpngnid 25,000.0 25,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 25,000.0 25,000.0 -
wwhwwntd
3. Gqnwpwnptinh YGpwanpngnid 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwntd
13. ®nnnglbph, hpwwwnpwlGbph L uyghllph 1,600.0 - 1,600.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 1,600.0 - 1,600.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 13,000.0 13,000.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SOGnBuwywl hwnpwptnnignLbGbp (wy) nwubphG 13,000.0 13,000.0 -
swwinywlnn)
wyn pynLd’
9. <punwwy (nidnid wwhwlignn pGpuwghly 13,000.0 13,000.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 13,000.0 13,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNh mucsauuNnt@3Ntu 59,034.4 - 59,034.4
wyn pynLd’

2520105 | 2 | 0 | Ybnuwgnbph hGrwgnid 59,034.4 - 59,034.4
nphg’

2521|/05| 2 | 1 |Ybnwwontph hbrwgntd 59,034.4 - 59,034.4
wyn pynLd’
1. Bpnwhbrwgdwl YndniGhywghnlt guiligbph 59,034.4 - 59,034.4
Yupnignid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 59,034.4 - 59,034.4

2600/06|0 | O pLULUNULUSHL ChuururnHe3NFL G4 63,255.0 55,255.0 8,000.0

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

264006 | 4 | O | @nnngltiph (ntuwydnpnid 10,000.0 10,000.0 -
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2641| 06 1 |®nnnglbph (ntuwynpnid 10,000.0 10,000.0 -
wyn pynLd’
2. Upwnwphl (ntuwdnpnipiul guagh 10,000.0 10,000.0 -
2whwagnpédwl L wwhwwGdwl
wpfuunnuwliplbin
- Untpuhnhwltp ng $hOwbuwywl wtnwyw 4511 10,000.0 10,000.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 53,255.0 45,255.0 8,000.0
SwewynipyntGGE&n (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 53,255.0 45,255.0 8,000.0
SwrwjntpntbObn (wy| nwubnhl sywwnywbnn)
wyn pynLd’
2. Pwquiuwpbwluwpwl 26GpLph pbip 20,000.0 20,000.0 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 20,000.0 20,000.0 -
3. Pwluyhl tnwpwdpllinh L 9,355.0 1,355.0 8,000.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 1,355.0 1,355.0 -
wwhwwntd
- Wy dbpbawobn L uwppwynpniibtbp 5129 8,000.0 - 8,000.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 23,900.0 23,900.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 8,900.0 8,900.0 -
wwhwwlntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 15,000.0 15,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 76,004.1 27,422.5 48,581.6
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpunh éwrwynipintGaGn 51,331.6 2,750.0 48,581.6
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbn 51,331.6 2,750.0 48,581.6
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 2,750.0 2,750.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,750.0 2,750.0 -
2. <wlbquuinh gnunhGbph L qpnuwyghlbph 48,581.6 - 48,581.6
Ywenignid n wwhwwlnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 40,581.6 - 40,581.6
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E- = % = ; pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

w2 3| 53 pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9

- GLlpbnh L 2hOneyntGOEnph Yuwwhunwy yepwbnpngnid 5113 8,000.0 - 8,000.0

282008 | 2 | 0 |Vpwlynipuyhl SweuynipniGlaln 24,672.5 24,672.5 -
nphg’

2821/ 08| 2 | 1 |Qpwnwpwbbbn 8,059.2 8,059.2 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 8,059.2 8,059.2 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 8,059.2 8,059.2 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vwynipwihb YuqiwytpwnieniGbbn 16,613.3 16,613.3 -
wyn pynLd’
1. Vpwiynipuyhl dhongwenidabph 16,613.3 16,613.3 -
hpwluwlwgnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 15,065.8 15,065.8 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 547.5 547.5 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -

2900|09|0 | O UPBNHB33NHL 232,810.4 232,810.4 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 128,893.7 128,893.7 -
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 128,893.7 128,893.7 -
wyn pynLd’
1. Lwfuuwi nguwlwl niunignid 128,893.7 128,893.7 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 128,893.7 128,893.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 103,916.7 103,916.7 -
Uppenipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 103,916.7 103,916.7 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 103,916.7 103,916.7 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 103,916.7 103,916.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

3000(10| 0 | O unshuLuyuLu nMucsMULNHB3NEL 12,350.0 7,350.0 5,000.0
wyn pynLd’

3030| 10| 3 | 0 | <wpwquinhl Ynpgpwd whdhlp 350.0 350.0 -

nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

3031| 10 1 | <wpwqwunhb Ynpgpwé wbéhbp 350.0 350.0 -
wyn pynLd’
1. <wpuwquin snLGbgnn widwbg 350.0 350.0 -
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 350.0 350.0 -

3070|110 | 7 | O |Unghwywlwl huwanny wpuinnbGnipint GGG (wyy 12,000.0 7,000.0 5,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipyntbbbn (wy 12,000.0 7,000.0 5,000.0
nuwubpht swywunywbnn)
wyn pynLd’
2. Gpliwl hwduylph pGwlhsGbph 6,000.0 6,000.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 1,300.0 1,300.0 -
- <wwnnty Gwwuinwywihb wyp ineptn 4269 4,700.0 4,700.0 -
5. Puqiwquidwly, Gppunnwuwpn b wyy 5,000.0 - 5,000.0
fudpbphl wurnlwGnn plunwlhplbnhl
wowlgnipint G
- Wy dbpbawobn L uwppwynpniibtbp 5129 5,000.0 - 5,000.0
10. Unghuwywiywl wowlygnipw Yuphp 1,000.0 1,000.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpywynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,000.0 1,000.0 -
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Unyntuwy 12

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

t6uLQUJb@ YUNUUUL cNrRULN UUUNY

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

el =2 nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 3,961,268.4 3,217,117.2 744,151.2
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 595,797.6 575,797.6 20,000.0
ounusnt@3NtFuLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 583,797.6 573,797.6 10,000.0
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 583,797.6 573,797.6 10,000.0
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 576,297.6 566,297.6 10,000.0
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 472,056.0 472,056.0 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 14,368.8 14,368.8 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 16,793.9 16,793.9 -
- UndntGwy SwrwynipntbbBn 4213 1,480.5 1,480.5 -
- Ywuwh SwrwjnipnLtGbn 4214 10,515.8 10,515.8 -
- Uywhnjwgnwywb dwfuutin 4215 768.0 768.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 200.0 200.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 550.0 550.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 2,000.0 2,000.0 -
- Uwubwghunwywb swrwjnipntbbn 4241 1,532.4 1,532.4 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 8,250.0 8,250.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 4,256.5 4,256.5 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Spwluwnpuwihb Gjnipkn 4264 24,520.0 24,520.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,636.2 2,636.2 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,379.5 1,379.5 -
- Mwpunwnhp y&wnobn 4823 990.0 990.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 10,000.0 - 10,000.0
2. Ywpswluwl opylyunGlph uenignid L 7,500.0 7,500.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 7,500.0 7,500.0 -
wwhwwntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 10,000.0 - 10,000.0
SwreuynLpynLGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 10,000.0 - 10,000.0
qony hGuinwgnuuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbn 10,000.0 - 10,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 10,000.0 - 10,000.0

2160|01| 6 | O | 2anhwGnip pGnyph hwapuyhG 2,000.0 2,000.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 2,000.0 2,000.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdGbp, hwygunhdnidlbp, nunwpwGh 1,000.0 1,000.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -
2. Qnuyph GLundwdp hpwyniGplEph 1,000.0 1,000.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 1,000.0 1,000.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynLd’

2250|102 | 5 | O | Nwpwwuwlbnipnt G (wy nuwubphl swwuwnlwGnn) 2,000.0 2,000.0 -

nphg’
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= |al 4 AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2251| 02 1 [Mwunwwinipntb (wy| nwukphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynLd’
1. 2hGwwwpunbbiph hwyJwedwl, gnpuwlynsh, 2,000.0 2,000.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpwdwOa wowlgnipim
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 1,500.0 1,500.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 500.0 500.0 -

2400/04|0 | O SLSGUULUL <UrurtMPN@3NFLLEN 231,100.0 206,000.0 25,100.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwynpuwn 192,600.0 167,500.0 25,100.0
nphg’

245104 | 5 | 1 |Swlwwwphwhb npwbuwnpun 187,500.0 167,500.0 20,000.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 110,000.0 110,000.0 -
L wwhwwln g
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 110,000.0 110,000.0 -
wwhwwntd
3. Gqnwpwntinh YGpwanpngnid 17,000.0 17,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 17,000.0 17,000.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlbnpngnid 9,500.0 9,500.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 9,500.0 9,500.0 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 31,000.0 31,000.0 -
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 31,000.0 31,000.0 -
wwhwwntd
11. BapwhwppwlGbph Yuenignid 10,000.0 - 10,000.0
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 10,000.0 - 10,000.0
13. @nnnglbiph, hpwwwpwlbbph L uyghlblph 10,000.0 - 10,000.0
Yuhwynpnig
- Wy dbpbawobn L uwppwynpniibtbp 5129 10,000.0 - 10,000.0

245504 | 5 | 5 [lunnnywywwnuwihb L wyp tnpwbuwnnpun 5,100.0 - 5,100.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 5,100.0 - 5,100.0
- Wy dbpbawobn L uwppwynpniibbp 5129 5,100.0 - 5,100.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 38,500.0 38,500.0 -
nwubphl swuwnluwbnn)
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2491| 04 1 | SOnBuwywb hwpwpbnnignLbGbp (wy nwubphG 38,500.0 38,500.0 -
swwinywlnn)
wyn pynLd’
9. <punwwy (nidnid wwhwlgnn pGpuwghly 38,500.0 38,500.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 38,500.0 38,500.0 -

2500(05|0 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 11,000.0 11,000.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduwyph wwpwnwwlnipinta (wy 11,000.0 11,000.0 -
nwubphl swuwnluwbnn)
nphg’

2561|/05| 6 | 1 |Cpowyw dhowdwnh wwunwwbnipyntb (wy| nwubph 11,000.0 11,000.0 -
swwuinywlnn)
wyn pynLd’
2. Ufunnwhwldwl L dhpwwnwqbpddwl 3,500.0 3,500.0 -
Swipuynipyni 6G6p /nbrunnhquighw
- UndntGwy SwrwynLpntbbEn 4213 3,500.0 3,500.0 -
3. <wuwnwuwlwl gniquinwbGbph 7,600.0 7,600.0 -
wwhwwinid L JGpwbGnpngnid
- UndntGwy SwrwynipntbbBn 4213 7,500.0 7,500.0 -

2600/06|0 | O pLULUNULUSHL ChuuNruQrnHe3NFL B4 781,129.2 101,500.0 679,629.2

UnUNFLUL dunusnNt@3NtLLEN

wyn pynLd’

2640|06 | 4 | 0 | @nnnghtiph ntuwynpnid 3,400.0 3,400.0 -
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynnpnid 3,400.0 3,400.0 -
wyn pynLd’
1. CGaptiph qinwpdGuunwlwl jntuwynpnid 3,400.0 3,400.0 -
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 3,400.0 3,400.0 -
wwhwwntd

2660|106 | 6 | 0 | Phwlwpwluyhl hGwpwpnipyuwl b ndniGuy 777,729.2 98,100.0 679,629.2
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbuwg 777,729.2 98,100.0 679,629.2
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 5,100.0 5,100.0 -
wnwbhplbph YGpwblnpngnid
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 5,100.0 5,100.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl 26Gpbph pbip 31,000.0 31,000.0 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 31,000.0 31,000.0 -
3. Pwluyhl tnwipwdpllinh L 689,629.2 30,000.0 659,629.2
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 30,000.0 30,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 570,679.2 - 570,679.2
- Wy dbpbawobp L uwppwynpniibbp 5129 88,950.0 - 88,950.0
4. Puqilwplwluwpwl 26Gpbnh pwpbliwnqdwl 32,000.0 32,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 32,000.0 32,000.0 -
wwhwwntd
5. dpwpuyhl wuwinquidplbph Gnpngnid 20,000.0 - 20,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 20,000.0 - 20,000.0

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 266,322.9 256,900.9 9,422.0
wyn pynLd’

2810/ 08 | 1 | 0 | <wlhquuwnh L uynpunh éwrwynipintGabn 16,797.6 6,375.6 9,422.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbn 15,797.6 6,375.6 9,422.0
wyn pynLd’
1. Uynpunuyhl dhongwenidGbph 6,375.6 6,375.6 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 6,375.6 6,375.6 -
2. <wlbquuinh gnunhGbph L qpnuwyghlbph 9,422.0 - 9,422.0
Ywenignid nt wwhwwlnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 9,422.0 - 9,422.0

2820108 | 2 | 0 |Vpwlynipuyhl dwruwynipinGabp 250,525.3 250,525.3 -
nphg’

2821108 | 2 | 1 |Qpwnwpwdbn 57,181.3 57,181.3 -
wyn pynLd’
1. Qpunwpwluyhl SwewyntpintGGEn 57,181.3 57,181.3 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 57,181.3 57,181.3 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebwnpnaGenp 149,854.0 149,854.0 -

wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. <wduylpuyhl dpwlynyph L wquin dwdwlgh 149,854.0 149,854.0 -
Yuqdwlbpwni d
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 149,854.0 149,854.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 43,490.0 43,490.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidabph 43,490.0 43,490.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 35,990.0 35,990.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 7,500.0 7,500.0 -

2900(09|0 | O urPENH33NHL 2,033,768.7 2,033,768.7 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,581,328.1 1,581,328.1 -
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 1,581,328.1 1,581,328.1 -
wyn pynLd’
1. Lwfuuwi nguwlwlb niunignid 1,581,328.1 1,581,328.1 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywl 4511 1,581,328.1 1,581,328.1 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 452,440.6 452,440.6 -
Uppenipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywlb nwuunhwpwyntpntl 452,440.6 452,440.6 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipint 452,440.6 452,440.6 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 452,440.6 452,440.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 40,150.0 30,150.0 10,000.0
wyn pynLd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 2,150.0 2,150.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wbdhbp 2,150.0 2,150.0 -
wyn pynLd’
1. <wpwqun snLGkgnn wGdwag 2,160.0 2,150.0 -
hninwpywynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 2,150.0 2,150.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

3040(10 0 | LOawnwbhph wanwdabp L quywlylbn 3,000.0 3,000.0 -
nphg’

3041{10 | 4 | 1 |COnwOhph wOnwdbbp L quywyobn 3,000.0 3,000.0 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplGbph L pwhbph 3,000.0 3,000.0 -
wupwnuwbnipint G
- Qnyph L uwppwdnpnidtbph yupdwywinipinta 4216 1,200.0 1,200.0 -
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 1,800.0 1,800.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipint GGG (wyy 35,000.0 25,000.0 10,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 35,000.0 25,000.0 10,000.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGbph 18,600.0 18,600.0 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuws
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 3,000.0 3,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,200.0 10,200.0 -
wwhwwntd
- Qpwubwyuwh Gniebp LW hwgniuwn 4261 1,500.0 1,500.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 3,900.0 3,900.0 -
5. Pwquwquiduy, Gphunnwuwnn b wy 16,400.0 6,400.0 10,000.0
fudpbphl wunlwGnn plunwlhplbnhl
wowlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 6,400.0 6,400.0 -
- Wy dbpbawobp L uwppwynpniibtbp 5129 10,000.0 - 10,000.0
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Uryniuwy 13

GNG4ULN 2024 EYUYULN AP3NFRGH YUN2ULUUL B4 dNULIUSHL UUUGNhS <USUUSNIULEGNL LUS RP3NFRGSU3NL
oulutNrh

2ULULGN-263BNIL YUN2UUUL CrRULh yuund

(hwquip npwdbbpny)

za; =l o Pntobuinuwhb dwituutph gnpéwrwywl nwuwywngiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pnLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nlnuwjhb pneet

o nwuwywpgiwo hnnuétbph  wodwonidatpp e
11213 |4 5 6 7 8 9
pLAUUBLL SUluUuGP 2,530,115.4 2,291,070.7 239,044.7
2100/01|0 | O oun<ULNEN ALNE3IBH <ULNU3LL 478,794.3 461,039.6 17,754.7
ounusnt@3NtFuLLEN

wyn pynLd’

2110101 | 1 | 0 | Op&hGunphp L gnpéwnpn dwpdhaabn, 468,694.3 459,939.6 8,754.7
wbwnwhwlt yuewdwpnid, phGwbuwluwl b
hwpyuwpimguwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

2111{01| 1 | 1 |OpGlGunhp L gnpéwnhp dwpdhGGtn, wewnwywo 468,694.3 459,939.6 8,754.7
Ywrwdwpnid
wyn pynLd’
1. Ywpwydwpdwl Jupdih wwhwwbntd 468,194.3 459,439.6 8,754.7
- U2uwwinnnGbph w2fuwwnwywndbp L 4111 381,313.4 381,313.4 -
hwyblwygwnlbp
- Muwpqlwuwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 13,443.6 13,443.6 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 21,945.5 21,945.5 -
- UndntGwy SwrwynipntbbBn 4213 1,760.6 1,760.6 -
- Ywuwh SwrwjnipnLtGbn 4214 10,365.7 10,365.7 -
- Uywhnjwgnwywb dwfuutin 4215 460.0 460.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuutin 4222 1,000.0 1,000.0 -
- Ywnswywl SwewjnipyntGbbn 4231 250.0 250.0 -
- SbnGYwuinywywh SwewjnieyntGbbn 4234 400.0 400.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 4,000.0 4,000.0 -
- Uwubwghunwywb swrwjnipntbbn 4241 741.0 741.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 4,320.0 4,320.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 2,464.8 2,464.8 -
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= |al 4 AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Spwluwnpuwihb Gjnipkn 4264 11,732.8 11,732.8 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 2,584.2 2,584.2 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 250.0 250.0 -
- Mwpunwnhp y&wnobn 4823 408.0 408.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 8,514.7 - 8,514.7
- Wy dbpbawobp L uwppwynpniibtbp 5129 240.0 - 240.0
2. Ywpswlwl opyliyuinlibnh Ywrnignid L 500.0 500.0 -
hhdGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 500.0 500.0 -
wwhwwntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhG 9,000.0 - 9,000.0
SweuyntpyntGGEph gény hbunwqnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnientGGEnh 9,000.0 - 9,000.0
qony hGuinwgnuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwunwlplbn 9,000.0 - 9,000.0
- LwjuwgdwhbGunwgnunwywb dwiuutin 5134 9,000.0 - 9,000.0

2160|01| 6 | O | 2anhwGnip pGnyph hwapuyhG 1,100.0 1,100.0 -
SweuynLpynL GGG (wy nwubphl swwnlwlnn)
nphg’

2161|/01| 6 | 1 |CUnhwlntp pGnyph hwOpwihb swrwjnipjnLtGOGn (wy 1,100.0 1,100.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdGbp, hwygunhdnidlbp, nunwpwGh 500.0 500.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn Gapyuywgllihu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 500.0 500.0 -
2. Qnyph Gyundwdp hpwyniGplbph 600.0 600.0 -
qpuilguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Mwpunwnhp y&wnobn 4823 600.0 600.0 -

2200(02|0 | 0 nuUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynLd’

2250|102 | 5 | O | Nuwpwwuwlbnipnt G (wy nuwubphl swwuwnlwlnn) 1,500.0 1,500.0 -

nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2251| 02 1 [Mwunwwinipntb (wy| nwukphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynLd’
1. 2hGwwwpunbbiph hwyJwedwl, gnpuwlynsh, 1,500.0 1,500.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpwdwOa wowlgnipim
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSGUULUL <UrurtMPN@3NFLLEN 281,070.0 266,000.0 15,070.0
wyn pynLd’

2450104 | 5 | 0 | Spwluwnpuwn 242,570.0 227,500.0 15,070.0
nphg’

2451|104 | 5 | 1 |Bwlwwwphwhb npwbuwnpun 242,570.0 227,500.0 15,070.0
wyn pynLd’
1. Uudpwyin-puinnlyw swdyh Jbpwlnpngnid 130,500.0 130,500.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 130,500.0 130,500.0 -
wwhwwntd
4. <Ghwwunnbph JGpuwlnpngnid 17,000.0 17,000.0 -
- GLlpbnh L Ywrenygbtph pGpwghy Gnpngned b 4251 17,000.0 17,000.0 -
wwhwwntd
8. Uuwypninplbiph L thnnnglbph 80,000.0 80,000.0 -
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 80,000.0 80,000.0 -
wwhwwntd
13. ®nnnglbph, hpwwwnpwlGbph L uyghllph 15,070.0 - 15,070.0
Yuhwynpnig
- Wy dbpbawobp L uwppwynpniibbp 5129 15,070.0 - 15,070.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGEn (wyy 38,500.0 38,500.0 -
nwubphl swuwnluwbnn)
nphg’

2491/04 | 9 | 1 |SGnBuwywh hwpwptnnignLbGbp (wy) nwubphG 38,500.0 38,500.0 -
swwuinywlnn)
wyn pynLd’
9. <puwnwwy (nidnid wwhwlgnn pGpwghly 38,500.0 38,500.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 38,500.0 38,500.0 -

2500(05|0 | 0 cNRUYU Uhudu3nNh mucsauuNnt@3Ntu 5,500.0 5,500.0 -
wyn pynLd’

2560|105 | 6 | 0 |Cpowlw dhowduyph wwpwnwwlnipinta (wy 5,500.0 5,500.0 -
nwubphl swuwnluwbnn)
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2561| 05 1 |Cpowyw thowdwnh wwunwwbnipintb (wy nwubph 5,500.0 5,500.0 -
swwinywlnn)
wyn pynLd’
2. Ufunnwhwldwl L dhpwwnwqbpddwl 5,500.0 5,500.0 -
Swipuynipyni (G6Gp /nbrunnhquighw
- UndntGwy SwrwynipintbbBn 4213 5,500.0 5,500.0 -

2600(06| 0 | O pLULUNULUSHL ChuuNurnHe3NFL G4 276,220.0 95,000.0 181,220.0

UNnUNFLUL dunusnNt@3NtFLLEN

wyn pynLd’

2660|06 | 6 | 0 | Phwlwpwluyhl hGwpwpnipywl b ndniGuy 276,220.0 95,000.0 181,220.0
SwewynipyntGGE&n (wy nwubphl swwnluwlnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpniywb L Yndntbug 276,220.0 95,000.0 181,220.0
SwrwjntpntbO6n (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26Gpbph hwpp 29,000.0 29,000.0 -
wnwbhplbph Ybpwblnpngnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 29,000.0 29,000.0 -
wwhwwntd
2. Pwquiuwpbwluwpwl 26Gpbph pbip 12,000.0 12,000.0 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 12,000.0 12,000.0 -
3. Pwluyhl tnwpwdpllinh L 196,220.0 15,000.0 181,220.0
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- Untpuhnhwbp ng wGwnwywb (ng hwdwbpwihb) ng 4521 15,000.0 15,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 175,345.0 - 175,345.0
- Wy dbpbawobp L uwppwynpniibbp 5129 5,875.0 - 5,875.0
4. Pwquuwplwlupwl p6Gpkph punblwnqdwl 39,000.0 39,000.0 -
wyy wpfuunnuwliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 39,000.0 39,000.0 -
wwhwwntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 111,867.8 91,867.8 20,000.0
wyn pynLd’

2810/ 08 | 1 | 0 |<wlquuwnh L uynpunh éwrwynipintGaGn 24,100.0 4,100.0 20,000.0
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipntbGbp 24,100.0 4,100.0 20,000.0
wyn pynLd’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

1. UynpunuyhlG dhongurnidGbph 4,100.0 4,100.0 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wj| SwrwjnLpjnLtbbEn 4239 4,100.0 4,100.0 -
2. L<wlquinh gnunhlGbph L gpnuuyghlGbph 20,000.0 - 20,000.0
Ywenignid nt wwhwwlnid
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 20,000.0 - 20,000.0

2820|108 | 2 | 0 |Vpwlynipuyhl swruwynipinGabp 87,767.8 87,767.8 -
nphg’

2821108 | 2 | 1 |QpwnwpwbGbp 38,764.5 38,764.5 -
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 38,764.5 38,764.5 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 38,764.5 38,764.5 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|108 | 2 | 3 [Uwyniph inbbn, wynidpdtn, YebwnpnbGenp 25,033.3 25,033.3 -
wyn pynLd’
1. <wduylGpuyhl dpwlynyph L wquin dwdwlgh 25,033.3 25,033.3 -
Yuqdwlbpwni d
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 25,033.3 25,033.3 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnieniGbbn 23,970.0 23,970.0 -
wyn pynLd’
1. Vpwynipuyhl dhongwenidalbph 23,970.0 23,970.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 20,010.0 20,010.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,960.0 3,960.0 -

2900(09|0 | O uPENH33NHL 1,354,043.3 1,354,043.3 -
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 961,932.4 961,932.4 -
Uppenipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywlb Ynppnepntd 961,932.4 961,932.4 -
wyn pynLd’
1. Lwfuuwi nguwlwl niunignid 961,932.4 961,932.4 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 961,932.4 961,932.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2950(09 | 5 | 0 | Luwn dwlwpnuwlGGph snwuwlwpgynn 392,110.9 392,110.9 -
Uppenipyntl
nphg’
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2951| 09 1 [Upunwnwpngwywb nwuunhwpwynipgntl 392,110.9 392,110.9 -
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipini 392,110.9 392,110.9 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 392,110.9 392,110.9 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 21,120.0 16,120.0 5,000.0
wyjn pyntd’

303010 | 3 | 0 |<wpwqunhl Ynpgnwdé whdhap 460.0 460.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Yynpgnwd whdhbp 460.0 460.0 -
wyn pynLd’
1. <wpuwquwn sniGbgnn widwlg 460.0 460.0 -
hninwpyuwynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn 4239 460.0 460.0 -

304010 | 4 | 0 | LOawnwGhph wonwoabn L quywllbn 1,650.0 1,650.0 -
nphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 1,650.0 1,650.0 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplabph L pwhbph 1,650.0 1,650.0 -
wupwnuwGnipint G
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 450.0 450.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,200.0 1,200.0 -

3070|110 | 7 | O |Unghwjwlwl huwwnny wpuinnbGnipintGGE (wyy 19,010.0 14,010.0 5,000.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 19,010.0 14,010.0 5,000.0
nuwubphb swywunywbnn)
wyn pynLd’
2. Gpluwlb hwduylph pGwlhsGbph 12,260.0 12,260.0 -
YGhuwdwlwpnwlyp pwplwydwll ninnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 1,400.0 1,400.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 4,740.0 4,740.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwhG ubbnh Ojnebn 4267 6,120.0 6,120.0 -
5. Puqiwquidwly, Gppunnwuwpn b wyy 6,200.0 1,200.0 5,000.0

[udpbphl wunnbuwlnn pGunwGhplbphlG
wowlgnipint G

139




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
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1 1213 |4 5 6 7 8 9
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,200.0 1,200.0 -
- Wy dbpbawobp L uwppwynpniibbp 5129 5,000.0 - 5,000.0
10. Unghuwywlwl wowlgnipjwl Yunphp 550.0 550.0 -
nLG&gnn plwnwbhplbph hwdwn
hninwpyuwynpm pjwl Yuqdwybpnwnid
4239 550.0 550.0 -

- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn
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